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Appendix

import pandas as pd
df = pd.read_excel('EMIS_class.xIsx')

class_melt_cols = [col for col in df.columns if col.startswith('values')]
df_class_melted = pd.melt(df, id_vars=['school_name', 'level_name', 'type_name’, 'district_
name’, 'Students’, 'Classrooms''class],

value_vars=class_melt_cols,

var_name="'var_name’, value_name="'values')

import pandas as pd
df = pd.read_excel('EMIS_std_total_furniture.xIsx')

class_melt_cols = [col for col in df.columns if col.startswith('std_total_furniture_")]
df_std_total_furniture_melted = pd.melt(df, id_vars=['school_name’ 'level_name' 'type_
name', 'district_name', 'Students', 'Classrooms''std_total_furniture],
value_vars=class_melt_cols,
var_name='var_name', value_name="'values')
df_std_total_furniture_melted
df_std_total_furniture_melted.to_excel("EMIS_std_total_furniture2.xIsx", index=False)

df = pd.read_excel('EMIS_prof_total_furniture.xIsx')
melt_cols = [col for col in df.columns if col.startswith('prof_total_furniture_')]
df_melted = pd.melt(df, id_vars=['school_name', 'level_name’, 'type_name’, 'district_name',
‘Students', 'Classrooms''prof_total_furniture'],
value_vars=melt_cols,
var_name="'var_name’, value_name="'values')

def categorize_var(x):
if x == "prof_total_furniture_values_per_Classroom":
return "Classroom"
elif x == "prof_total_furniture_values_per_Student":
return "Student"
else:
return "Value"

def categorize_furniture(x):
if x == "Aat":
return "Lower"
elif x == "Diak":
return "Upper"
else:
return "Middle"



) uredofcsac

def categorize_url1(x):
if x == "Aat":
return "https://cdn-icons-png.flaticon.com/512/3389/3389176.png"
elif x == "Diak":
return "https://cdn-icons-png.flaticon.com/512/3179/3179672.png"
else:
return "https://cdn-icons-png.flaticon.com/512/3179/3179682.png"

def categorize_url2(x):
if x == "Student":
return "https://cdn-icons-png.flaticon.com/512/5310/5310717.png"
elif x == "Classroom":
return "https://cdn-icons-png.flaticon.com/512/2422/2422454.png"
else:
return "https://cdn-icons-png.flaticon.com/512/684/684831.png"

df_melted['class2'] = df_melted['prof_total_furniture'].apply(categorize_furniture)
df_melted['URL] = df_melted['prof_total_furniture'].apply(categorize_url1)

df_melted['var_name2'] = df_melted['var_name'].apply(categorize_var)
df_melted['URL2'] = df_melted['var_name2'].apply(categorize_url2)
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Appendix

import pandas as pd
from konlpy.tag import Okt

df= pd.read_excel('TH7A T B AMTH24EH(2021-01-01_2022-12-31).XIsx)
okt = Okt()

# Define a function to extract nouns from a single piece of text
def get_nouns(text):
return okt.nouns(text)

# Apply the function to the specified column and create a new column with the results
df[ HTHS_EA = df[ELHS.apply(get_nouns)

df[ HFLHE_HAN] = df[ HFLLIE .apply(get_nouns)

dfto_csv(HT7AM S FH2|(MT).csv, encoding="utf-8-sig' index=False)

df = pd.read_excel(‘THA T AFHEE SE(AAH CH).xIsx')

from konlpy.tag import Okt

okt = Okt()

def get_nouns(text):
return okt.nouns(text)

A AREERS_HAF] = df AR ERS].apply(get_nouns)
dff MR ZZ_HAF] = dff MR E=".apply(get_nouns)

dfto_csv(AHNEE S E s 2| (AMT).csv, encoding='cp949', index=False)

20
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Appendix

import glob
# Pattern to match files related to corporation and consignment

corporation_files_pattern = *Z¢HE|H csv!
consignment_files_pattern = *2|E2H csv'

25
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# Using glob to find files that match the patterns
corporation_files = glob.glob(corporation_files_pattern)
consignment_files = glob.glob(consignment_files_pattern)

# Reading and concatenating the corporation files
df_corporation = pd.concat([pd.read_csv(file, encoding='cp949') for file in corporation_
files])

# Reading and concatenating the consignment files
df_consignment = pd.concat([pd.read_csv(file, encoding='cp949') for file in consignment_
files])

# Function to combine date and time into a datetime, handling errors gracefully
def combine_date_time(row, date_col, time_col):
date_time_str = f"{row[date_col]} {row[time_col]}"
try:
return pd.to_datetime(date_time_str)
except ValuekError:
return pd.NaT # Return Not-a-Time for rows with parsing errors

# Apply the function to create new datetime columns

df_consignment['EX A& = df_consignment.apply(combine_date_time, date_col='$%
A|ZFAXF time_col="STIA|ZIAIZE axis=1)

df_consignment[5MZ 22" = df_consignment.apply(combine_date_time, date_col="$5%
ZEYX}, time_col="8XEFA|ZF, axis=1)

df_consignment = df_consignment[[ XA 'FA 'SHI|ID' 'G&/k AFRFEH (kWh)' !
ABRFE(H), STARY, 'SHE=L]

df_consignment = df_consignment.rename(columns={&H A" EHL"SH7|IDEH7|"
AFEHE (KWh) ' SHZHKWh) ' A (H) ' SHZ A (™))

df_electro = pd.concat([df_corporation, df_consignment]).dropna()

xy = pd.read_csv(‘EX™A g BT EHH csv, encoding='cp949')
df_electro_xy = pd.merge(df_electro, xy[[ ™A &= E L], left_on="E8 A right_on="'
ETA H' how = 'left)
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df_electro_xy = df_electro_xy[~df_electro_xy['?I="].isna()]

df_electro2 =  df_electro_xy.drop_duplicates().reset_index().drop(columns='index').
dropna()

# Function to clean and convert Charging amount (kWh)
def clean_kwh_amount(df):

dffEFZHKWh)] = df[EFZFHKWh)].str.replace('Wh', ").replace(", np.nan).astype(float).
astype(float).fillna(0.0)

return df

# Function to convert Charging time to minutes
def convert_charging_time(df):
def time_to_minutes(time_str):
parts = time_str.split("')
# Depending on the number of parts, assign hours, minutes, and seconds
if len(parts) == 3:
hours, minutes, seconds = map(int, parts)
elif len(parts) == 2:
hours, minutes = map(int, parts)
seconds =0
elif len(parts) == 1:
hours =0
minutes = int(parts[0])
seconds =0
else:
raise ValueError(f"Unexpected time format: {time_str}")

return hours * 60 + minutes + seconds / 60.0

df['ETAIZE] = df[ S AIZH].apply(time_to_minutes).astype(int)
return df

# Function to clean and convert Charging amount (KRW)
def clean_krw_amount(df):
df STFU(H)] = df[ SHSU(R)].str.replace(,, ").astype(int)

return df

# Applying the functions to the DataFrame
df_electro2 = clean_kwh_amount(df_electro2)
df_electro2 = convert_charging_time(df_electro2)
df_electro2 = clean_krw_amount(df_electro2)
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Appendix

import pandas as pd
import os

#OO|H 2=
# 7|4 C|O]E{: ASOS 2013 CIO|E{Z GIA|2 AL

df = pd.read_csv(./ASOS_2013_2022/ASOS_2013.csV, encoding="'cp949')

# 27| t|o|Ef =t
print(df.head())

#L|HMER| 27 Sl ol 0| My

directory = "/ASOS_2013_2022"
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file_names = [f"ASOS_{year}.csv" for year in range(2013, 2023)]

# 2E CSV IS stLte| DataFrameS 2 A%t

df_list =[]

for file_name in file_names:
file_path = os.path.join(directory, file_name)
temp_df = pd.read_csv(file_path, encoding='cp949')
df_list.append(temp_df)

combined_df = pd.concat(df_list, ignore_index=True)

O

# 7|2t CllojE{oll M Baot HEot =& 5l It
#OAZ, 7|2(°C)'e BFS ALESto |t
temp_pivot = combined_df.pivot_table
aggfunc='mean’)

m

1012 &4

index="X|&", columns="&A[, values="7|2(°C),

# PivotZl DataFrameS CHA| long formatS 2 #2510 2401 0|6HA| 2HE
melted_df = temp_pivot.reset_index().melt(id_vars=["X|&", var_name='"&A[' value_
name='7[&")

# AL G0l 29 8 7| 715

ta_df = pd.read_excel("/D&HE2 E{E_AMDAH, X[H-1.xIsx")
# AL 2 AN S A HRH0H| BHF YA Het
ta_df[' LAl = ta_df[' At 2X}].astype(str) + " " + ta_df['ALZA|ZH].astype(str).str[:2] + ":00"
# 0|5 HE Bl 2K M2

ta_df.rename(columns={"7 | &2t=ZX|&2" "X|&"}, inplace=True)
ta_df.dropna(subset=['X|&"], inplace=True)

ta_df['X|&"] = ta_df['X|I&".astype(int)

# X UA'E Zefsto] Aers 2ot 7| MM

ta_df['key'] = ta_df['X|&"].astype(str) + " " + ta_df['LAl]

# 7|2 HO[E{2F Al Cll0|E] 2
#'key'S 7IEQE LR RIS AHESI] Rt FEot

joined_df = pd.merge(ta_df, melted_df, on="key" how="left')

e
o

HS
=g

# £|Z HIO|5 2ol M BQSHK| b2 E5 & XA

final_columns_to_save = joined_df.drop(columns=["X|&_x' 'X|I&_y" 'YA|_x' 'LALy'])
# 2| Z O[S CSV Y= M&

final_columns_to_save.to_csv('final_joined_df.csv' index=False, encoding="'cp949')
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# 7|2 CllojEol| M Haot FHot =& 5l I}
#OJAZ, '7|2(°C)el BZ S AHEdHo T
temp_pivot = combined_df.pivot_table
aggfunc='mean’)

m

lo|E 44

oL

index="X|&' columns="&A|, values='7|2(°C),

# Pivot=l DataFrameS CHA| long format2 2 B2t 24101 0[6HA| 2HE
melted_df = temp_pivot.reset_index().melt(id_vars=['XI&'], var_name='2Al' value_
name='7[&')

# At OO 2 3 X£7| 7t5

ta_df = pd.read_excel("/D&EZ EE_ADAH, X[H-1.x1sx")

#ARD A AN S LA ZR0f S| HA et

ta_df['2AlT = ta_df[AFD X} ].astype(str) + " " + ta_df[' A2 A|ZH] astype(str).str[:2] + ":00"
# Q0|5 HE A BXK K2

ta_df.rename(columns={"7|&2tZX|&2" "X|&", inplace=True)
ta_df.dropna(subset=['X|&'], inplace=True)

ta_df['X|&"] = ta_df[XI&".astype(int)

# "X IHUA'SE ZRfSt] 2gg 2ot 7| MA

ta_df['key'] = ta_df['X|&'.astype(str) + " " + ta_df[' LAl

# 7|2 H|O|E{et Al HjofH gt
#'key'E 7IECZ LI R0l ArE3I0] HRgt HEot

joined_df = pd.merge(ta_df, melted_df, on="key", how="left)

=

Zg

1o

# X5 Cllo[5 Z2f| ol M BRDIX| b2 5= S HAH

final_columns_to_save = joined_df.drop(columns=["X|&_x' 'X|&_y" 'LA|_x' 'LA|_y1)
# %|Z HI0|HE CSV MU ZE Xz

final_columns_to_save.to_csv('final_joined_df.csv' index=False, encoding="'cp949')
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Appendix

df = pd.read_csv('LtEE|2_2HH|0|E.csV', index_col=0)

gxEio| Ho = H
OTHIEAIZHER)] = AfHIAFAIZEE) /60
dffOIEAIZHEY] = df[OISAIZH)]/60

df.drop(['01SAIZHE) BHXFAIZH(Z), 0| S4 & (km/h)], axis=1, inplace=True)

Z=x 20, Cl0lE 25K 918
print('Cllo[Ef ZZ X[ dfisna().sum())
#OFR210[0f AlZf2t &l

import matplotlib.pyplot as plt
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.subplots(figsize=(18,6))
plt.title("Outliers visualization")

df.boxplot();

HSXIXHE IEE AlZfet

pickup_longitude = list(df['Z2X| ZE1)

pickup_latitude = list(df[' ZLX| $I=1)

plt.subplots(figsize=(10,6))

plt.plot(pickup_longitude, pickup_latitude, ', alpha = 1, markersize = 10)
plt.xlabel('pickup_longitude')

plt.ylabel('pickup_latitude')

plt.show()
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H#P[ZE O|AX| XA
df = df{(df[ZUX| A= > 128.25)]
df = df[(df[SUX| 9I=] < 36.25)]

HESKIXE 1B = Al2st

pickup_longitude = list(df[ Z&X| =)

pickup_latitude = list(df[ =X 2I=")

plt.subplots(figsize=(10,6))

plt.plot(pickup_longitude, pickup_latitude, ', alpha = 1, markersize = 10)
plt.xlabel('pickup_longitude')

plt.ylabel('pickup_latitude')

plt.show()

HOIAHAIHE 1B Al2f=t

dropoff_longitude = list(df['SXX| A=)

dropoff_latitude = list(df[ S&X| $I=)

plt.subplots(figsize=(10,6))

plt.plot(dropoff_longitude, dropoff_latitude, ', alpha = 1, markersize = 10)
plt.xlabel('dropoff_longitude')

plt.ylabel('dropoff_latitude')

plt.show()

#2|Z = O|AX| ®|A

df = df[(dff 2 XX ZE] > 128)
df = df[(df[ =2 XX ZE] < 130)
df = df[(df['=2XX| 9I=] > 35)]
df = df[(df[==X 2= < 37)]

]
]

Bl

HOHAIX|E 1B = AlZst

dropoff_longitude = list(df['SXX| L)

dropoff_latitude = list(df['SXX| {I=17)

plt.subplots(figsize=(10,6))

plt.plot(dropoff_longitude, dropoff_latitude, ", alpha = 1, markersize = 10)
plt.xlabel('dropoff_longitude')

plt.ylabel(‘dropoff_latitude')

plt.show()

#O| I O|AMK| H|AH
df = df[(df[2XX| Z=] < 128.9)]
df = df[(df[2XX| SI=1] < 36.05)]
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HOHAIX|E 1B = AlZst

dropoff_longitude = list(df['SXX| L)

dropoff_latitude = list(df['SEX| /=)

plt.subplots(figsize=(10,6))

plt.plot(dropoff_longitude, dropoff_latitude, ", alpha = 1, markersize = 10)
plt.xlabel('dropoff_longitude')

plt.ylabel(‘dropoff_latitude')

plt.show()

#O|SAIZHEE A|I2f2}
plt.subplots(figsize=(20,6))
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.hist(df['0SAIZHE)].values, bins=100)
plt.xlabel('0|SAIZHE)')

plt.ylabel('number of records')

plt.show()

#0|SA[ZH 80 OfSt= M|
df = df[(df['0lSAIZH(E)"] < 80)]

HO|SAIZHRIE A[2IS}
plt.subplots(figsize=(20,6))
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.hist(df['0|=AIZHE)].values, bins=100)
plt.xlabel('0|SAIZHE))

plt.ylabel('number of records')

plt.show()

H#HHXFA|ZE 22 A|2f3t
plt.subplots(figsize=(20,6))
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.hist(df['HIXFAIZH(E)].values, bins=100)
plt.xlabel('HHXFAIZHE)')

plt.ylabel('number of records')

plt.show()

HEHXEAIZE 140 O[St= XA
df = df[(dffEHXFAIZH(E)] < 140)]

#HNKEA|ZHRIE A|2f2}
plt.subplots(figsize=(20,6))
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.hist(df[ BIXFAIZHE) . values, bins=100)
plt.xlabel(‘BHXIAIZHE)')

plt.ylabel('number of records')

plt.show()
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#O|S7{2| A2tst
plt.subplots(figsize=(20,6))
plt.rcParams|['font.family'] = 'Malgun Gothic'
plt.hist(df['0lS742|(km)'].values, bins=100)
plt.xlabel('0l&72|(km)')

plt.ylabel('number of records')

plt.show()

#0|S 72| 30 O[8H= &
df = df[(df['0IS{2](km)] < 30)]

#0|SHE| Al2f=t
plt.subplots(figsize=(20,6))
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.hist(df['0lS72|(km)"].values, bins=100)
plt.xlabel('0l5742|(km)')

plt.ylabel('number of records')

plt.show()

#OFR210|0f A|2t3t 2Ol
import matplotlib.pyplot as plt
plt.rcParams['font.family'] = 'Malgun Gothic'
plt.subplots(figsize=(18,6))

plt.title("Outliers visualization")

df.boxplot();

#EQEL 2

4

df2 = dff(df{ RS2 R =="c|HH") | ([ ZEHEF]=="XIH)
| (@f[ReaF]=="tg) | df[2e2F]=="A12

| (f[EeheR]=="=of%}) | (df[HHER]=="XIF)

| (dffHeheR]=="94) | (df[HeER]=="TtH4)

| (ffEeheR]=="82}) | (df[H2EF]=="201)

| ([ He2R]=="R3A}) | (df[FeeR]=="tT)

| ([ RetER]=="=57]) | (df[ZeRR]=="=H5")]

df2[' 2 SXFAIZH] = pd.to_datetime(df2[' 02 SXtAIZH])

df2.drop([FAlZ 02 SKPAIZE 02 SEXPAIZEEIAITE"], axis=1, inplace=True)
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HEIMN 2N

import seaborn as sns

a,b = plt.subplots(1,1, figsize=(10,5))
sns.boxplot(df2[ 222 R, df2['0ISAIZHE)T)

df3 = df2[[Het2 R ELX| dHS SHA|

1

2)SHTZRIHIA SR

0%

HES)H L QY AIZE HIXIAIZHE), 0l SAIZH(

1=

from sklearn.preprocessing import LabelEncoder
label = [t FEUX| AHS, SHX| WY S, 'SHXET, UKt X2HEF]

df3[label] = df3[label].apply(LabelEncoder().fit_transform)

#71E| 02| Cl|O[E] EfYHE
dtype=[HeE2 R 'ELX| dYS A AYS, 'SHXS T HIXH KSR
foriin df3[dtype]:
df3[i] = df3[i].astype('category')
df3.dtypes

from sklearn.preprocessing import MinMaxScaler
minmax = ['HHXtAIZHE)! Ol SAIZHE)]

scaler = MinMaxScaler()

df3[minmax] = scaler.fit_transform(df3[minmax])
df3.head()

#EHRlE 4 H e, SEH 0 SL5HS 22|

df3_y = df3[AetEF

drop = [HetEF]

df3_x = df3.drop(drop, axis=1)

H#2XFRAC 2 =ASI0] A|Zfolst0] 0|2t SEES BTt

from sklearn.decomposition import PCA

pca = PCA(n_components=2)

pca.fit(df3)

df3_pca = pca.transform(df3)

# AZZ O 2 Xt0|7} glof= ¢l

plt.scatter(df3_pcal:;,0], df3_pcal[: 1], c=df3_y, linewidths=1, edgecolors='green’)
plt.show()

H#HIHUEMOZ RART EGE JHAI= HI0[EIE I8!

it Of2iHo] SRIAEIR T4 List2 22 Hof 24210] 420l A4S HEHOR Alzetst

DS
=o
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def visualize_silhouette(cluster_lists, X_features):

from sklearn.datasets import make_blobs
from sklearn.cluster import KMeans
from sklearn.metrics import silhouette_samples, silhouette_score

import matplotlib.pyplot as plt
import matplotlib.cm as cm
import math

1

QIAZIOR Z2AAEY THHES 2IAER WOtk 2 H4H 2 S2AEYS HBotn A2
s
n_cols = len(cluster_lists)

# plt.subplots() 22 2|AE0| 7|xH=l S2{AEZ 2HF2| sub figuresE 7HX|= axs 44

fig, axs = plt.subplots(figsize=(4*n_cols, 4), nrows=1, ncols=n_cols)

# 2| AEO| 7|xHEl SHAHT IS S K22 iteration S2SHHA AR THa A2t}
forind, n_cluster in enumerate(cluster_lists):
# KMeans 22{AEZ 6t AR AT012t 7S H|0|EQ] MRSl gt ALk
clusterer = KMeans(n_clusters = n_cluster, max_iter=500, random_state=0)
cluster_labels = clusterer.fit_predict(X_features)

sil_avg = silhouette_score(X_features, cluster_labels)
sil_values = silhouette_samples(X_features, cluster_labels)

y_lower =10

axs[ind].set_title('Number of Cluster : '+ str(n_cluster)+'\n'\
'Silhouette Score :' + str(round(sil_avg,3)) )

axs[ind].set_xlabel("The silhouette coefficient values")

axs[ind].set_ylabel("Cluster label")

axs[ind].set_xlim([-0.1, 1])

axs[ind].set_ylim([O, len(X_features) + (n_cluster + 1) *10])

axs[ind].set_yticks([]) # Clear the yaxis labels / ticks

axs[ind].set_xticks([0, 0.2, 0.4, 0.6, 0.8, 1])

# S AEZ! I 2 fill_betweenx( )HENQ| T T2z FH,
foriin range(n_cluster):
ith_cluster_sil_values = sil_values[cluster_labels==i]
ith_cluster_sil_values.sort()

size_cluster_i = ith_cluster_sil_values.shape[0]
y_upper = y_lower + size_cluster_i
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color = cm.nipy_spectral(float(i) / n_cluster)

axs[ind].fill_betweenx(np.arange(y_lower, y_upper), O, ith_cluster_sil_values, \
facecolor=color, edgecolor=color, alpha=0.7)

axs[ind].text(-0.05, y_lower + 0.5 * size_cluster_i, str(i))

y_lower = y_upper + 10

axs[ind].axvline(x=sil_avg, color="red", linestyle="--")

HH Ol27le| 22| AR TN ListZ Y3 2ot 2f2te| S2{AH BE A2t o4

def visualize_kmeans_plot_multi(cluster_lists, X_features):

from sklearn.cluster import KMeans
from sklearn.decomposition import PCA
import pandas as pd

import numpy as np

# plt.subplots()22 2|AE| 7|xHE SHAEZ 2HE9| sub figuresS 7HXl= axs o
n_cols = len(cluster_lists)

fig, axs = plt.subplots(figsize=(4*n_cols, 4), nrows=1, ncols=n_cols)

# /= HIO[E{2] FEATUREZ} 042171 2 2XH H|O[Ef A[2f27} 0f{ RE 2 PCA 50| 2

Xkl AJztet

pca = PCA(n_components=2)
pca_transformed = pca.fit_transform(X_features)
dataframe = pd.DataFrame(pca_transformed, columns=['PCA1'PCA2'])

# 2| AE 7|ME 22AHZ IH+ES K122 iteration £HSHHA KMeans 22{AEZ 3

St A2}t

forind, n_cluster in enumerate(cluster_lists):

# KMeans 22{AHZ 02 ZHAHZ AE dataframe0]] M.

clusterer = KMeans(n_clusters = n_cluster, max_iter=500, random_state=0)
cluster_labels = clusterer.fit_predict(pca_transformed)
dataframe['cluster]=cluster_labels

unique_labels = np.unique(clusterer.labels_)
markers=['0}'s' " 'x', *']

# 22{AER Zuigt E 2 scatter plot 22 Al2ts}
for label in unique_labels:
label_df = dataframe[dataframe['cluster']==label]
if label == -1
cluster_legend = 'Noise'
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else:
cluster_legend = 'Cluster '+str(label)
axs[ind].scatter(x=label_df['PCA1], y=label_df['PCA2", s=70,\
edgecolor="'k’ marker=markers[label], label=cluster_legend)

axs[ind].set_title('Number of Cluster : '+ str(n_cluster))
axs[ind].legend(loc="upper left')

plt.show()

# TH2| 2 DfAleid @HSIAS Python, A2 2412 PowerBIS 285101 Al2tet 43
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Appendix

#2t0|H22| 22{27|
import pandas as pd
import numpy as np

# CllOJE| AlZf=t 2+ 2fo| B2

import seaborn as sns

import matplotlib.pyplot as pl

import plotly.graph_objects as go
import plotly.express as px

import matplotlib as mpl

import matplotlib.font_manager as fm

#olo|e 24 21 K2
df = pd.read_csv('helpdesk_info_main_7}& (utf8).csv')

# AEX| =l Aot 'z 'PROCESS_CN' ZEof| 257t 2o ExKet.
df.isna().sum()

EA0f 0[X|= SS2 £25t7| 2l 2E nan gt& "= A

df = df fillna(")

# 2 270 2L IHE M1, OIS HIo[HZ Yo = Hetst £3

pd.DataFrame(df.isna().sum()).T

#'REQST_DT' ZHS datetime HAI0 2 &3}
dffREQST_DT'] = pd.to_datetime(dfREQST_DTY)

# Ol M 74 A2
#'REQST_DT' YoM HE FESH0{ A E MY
df['¥I=] = dfREQST_DT'.dt.year

# = BIZ 244 A[2IBHE 9/t Figure M (27] XI%)

plt.figure(figsize=(8, 5))

# sns.countplot2 AFE5I0] AE Q@ 744 A Zfo}

sns.countplot(x="#%=" data=df, palette="husl'

#24 Blo|ef ZOIE0] 2k 27
#AES D19 A48 Akt T

el il

yearly_counts = df['®x="].value_counts().sort_index()
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# 2f A0]| SilESh= 14 ghs e IO MIAER HA|
foriin range(len(yearly_counts)):
plt.text(i, yearly_counts.values[i] + 3, f{yearly_counts.values[i]}?1, ha='center’
fontsize=12)

# Jefmo| H|= 8l = 2fd AF
plt.title('H=E AE 742)
plt.xlabel('H =)
plt.ylabel("A1& 712

# 2T gojorR = 3 =
plt.tight_layout()
plt.show()

#2718 N 7 A24St
#'REQST_DT' S0l 'HAZ-27| YAloZ Hetslof ‘A -27|' E MY
df{'HE=-27]"] = df[REQST_DT'].dt.to_period('Q').astype(str).str.replace('Q, '-Q')

#AUE U ASE Aot F&

quarterly_counts = df['®=-&7|"].value_counts().sort_index()

# AZet 2 07 30| X1

plt.figure(figsize=(20, 14))

#A|2oh  HE-27|E A 714 2tel J2jm
plt.subplot(2, 1,1) # 2x1 2{|0[0}R0IM X HI| MESZ

#AT-27|E AN HE 2ol eI AI2fg)
plt.plot(quarterly_counts.index.astype(str), quarterly_counts, marker='o' color="orange",
alpha=0.6, linewidth=3)

# O2fimol HS 3 = 2f A4y
plttitle('27|E &I- 7
plt.xlabel(H=-271)
plt.ylabel(A1& 712

# U N 744 A0
# 298 P32 ZAS| 401 22 0} 2|12 4

|.90|| l/\BOl' 'EEOU ':LROl' 'EBOU 'OlEOII]

#'REQST_DT' HollM QYUS =2 FE310 'Y & 44
DT'].dt.day.

df['2g'] = dfREQST_ ._name(locale='ko_KR')
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# QUE TH| LIE = A

total_weekly_counts = df['@2'].value_counts().reindex(weekdays, fill_value=0)

#A1Ztet 49 J” 37 KE

plt.figure(figsize=(12, 6))

# sns.countplot2 AFESH] R AN -5 ATHE A|2f9}
sns.countplot(data=df, x="Q%¥" hue="¥<' order=weekdays, palette="viridis')

2

# e x= 3l Eepd o
plttitle(H= 2UH AN
plt.xlabel('2¥)
plt.ylabel('t1E 712

plt.legend(title="Hx=")

ry O

)

# 2z 2fojopR =8 8l &Y
plt.tight_layout()
plt.show()

# LEVELE &1 242> A2}t
#'LEVELTE AN HZ A4t
levell = df['LEVEL1".value_counts()

£

#'LEVEL2"H A1IK =5 At
level2 = df['LEVEL2'].value_counts()

#'LEVEL3'E &I™ A5 AlAt
level3 = df['LEVEL3'".value_counts()

#'LEVEL3'C| 2[0|E =7 OS2 A2( 10712t MEH
level3_top10 = level3.head(10)

# Al218t 3 1x3 2f0l0f2 0| MEEE MY

=X oo

fig, axs = plt.subplots(1, 3, figsize=(20, 5))

# LEVELTE A1 A= K243t

sns.barplot(x=levell.values, y=levellindex, color="lightskyblue' ax=axs[0])
axs[0].set_title(LEVELTE A 424)

axs[0].set_xlabel('71")

# LEVEL12| X|CHZt EIAE HA|
max_index = levell.idxmax() # Z|CHzte| QIHA Kb7|
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max_value = levell.max() # Z|CHZH 57|
axs[0].text(max_value / 2, levellindex.get_loc(max_index), f{max_value}?1,
va='center' ha='center', color="black’) # EIAE HA|

# LEVEL2E AME 2= Ao}

sns.barplot(x=level2.values, y=level2.index, color="lightgreen’, ax=axs[1])
axs[1].set_title('LEVEL2E A& 714+

axs[1].set_xlabel (‘712

# LEVEL29| X[CHZ} EIAE FA|

max_index = level2.idxmax()

max_value = level2.max()

axs[1].text(max_value / 2, level2.index.get_loc(max_index), f{max_value}71'
va='center’, ha='center’, color="black’)

# LEVEL3YE A1 242~ (421 107H) Al2=t

sns.barplot(x=level3_top10.values, y=level3_top10.index, color="coral, ax=axs[2])
axs[2].set_title('LEVEL3E A1 71~ (TOP10)'

axs[2].set_xlabel('74")

# LEVEL3 (TOP10)2| £|CHgf HIAE HA|

max_index = level3_top10.idxmax()

max_value = level3_top10.max()

axs[2].text(max_value / 2, level3_top10.index.get_loc(max_index), f{max_value}?'
va='center, ha='center’, color="black’)

#efooe =Y 3l =
plt.tight_layout()
plt.show()

# AIEX AT XtE A2t
# LEVELT, LEVEL2, LEVEL3E A1 A4 TA|
df_grouped = df.groupby(['LEVELT, 'LEVEL2' 'LEVEL3"]).size().reset_index(name="'Count')

fig = go.Figure()

# M L2 E 27

colors = px.colors.qualitative.Plotly

fori, levellin enumerate(df_grouped['LEVEL1"].unique()):
df_levell = df_grouped[df_grouped['LEVEL1] == levell]
fig.add_trace(go.Bar(
x=df_levell['LEVEL2'] + ' - ' + df_levell['LEVEL3"],

62



DIP 2IH[0|E{ 2 MIE] HIO|E 24 8! HAE X2ARIE - 2024

y=df_levell['Count],

name=levell,

marker_color=colors[i % len(colors)],
text=df_levell['Count'],
textposition="auto'

fig.update_layout(
barmode="stack,
title="AIE2! ClO|&] T (2UTH XLE),
xaxis_title='LEVEL2 - LEVELS,,
yaxis_title="A% 74
font=dict(size=12),
width=2000,
height=800,
xaxis=dict(tickangle=-45),
legend=dict(title='LEVELT, x=1, y=1)

fig.show()
# LEVEL'E AM™ZA AASE

# LEVELT A1 74 = A|
levell_quarterly_counts = df.groupby (['®=-27[" 'LEVEL1Y).size().unstack().fillna(0)

I A2t

AT

#LEVEL2 A1 A= A
level2_quarterly_counts = df.groupby ([ =-27|' 'LEVEL2").size().unstack().fillna(0)

# LEVEL3 &1 74 ZA|
level3_quarterly_counts = df.groupby(['®=-27|, 'LEVEL3").size().unstack().fillna(0)

# LEVEL3 ZHE| 02| M7 (49| 1071 FHel| 02| AMEH)

top_n =10

top_level3_categories = level3_quarterly_counts.sum().nlargest(top_n).index
top_level3_quarterly_counts = level3_quarterly_counts[top_level3_categories]

# AlZfet Aol It M S Qlo UF 7|7t St & MH 7471500 0|42l Hak ME
threshold_value = 500

levell_quarterly_counts_filtered = levell_quarterly_counts.loc[;, levell_quarterly_counts.
sum() >= threshold_value]

level2_quarterly_counts_filtered = level2_quarterly_counts.loc[;, level2_quarterly_counts.
sum() >= threshold_value]

top_level3_quarterly_counts_filtered = top_level3_quarterly_counts.loc[;, top_level3_
quarterly_counts.sum() >= threshold_value]
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# A2t}
fig, ax = plt.subplots(3, 1, figsize=(18, 18))

# LEVELT A[Z%}

levell_quarterly_counts_filtered.plot(ax=ax[0], alpha=0.6, linewidth=3)
ax[0].set_title(LEVELT 27| Al 7420] A|ZH &3 (Z 74 >= 500))
ax[0].set_ylabel (‘A A4)

ax[0].set_xlabel(H=-£7]')

ax[0].legend(title="LEVELT, bbox_to_anchor=(1.01, 1), loc="upper left)

# LEVEL2 A|Zt%}

level2_quarterly_counts_filtered.plot(ax=ax[1], alpha=0.6, linewidth=3)
ax[1].set_title(LEVEL2 27| MK 745=2| A|Zt ¥z} (£ 744 >= 500))
ax[1].set_xlabel(H=-£7])

ax[1].set_ylabel('"A1& 715+)

ax[1].legend(title='LEVEL2', bbox_to_anchor=(1.01, 1), loc="upper left')

#7392 LEVEL3 AlZf%t

top_level3_quarterly_counts_filtered.plot(ax=ax[2], alpha=0.6, linewidth=3)
ax([2].set_title(LEVEL3 £7|8 AIH 745=9] Azt #H3} (B 7= >= 500))
ax[2].set_xlabel(H=-£7]')

ax[2].set_ylabel('AIA 74"

ax[2].legend(title="LEVELS', bbox_to_anchor=(1.01, 1), loc="upper left’)

plt.tight_layout()
plt.show()

I8 744 Al2tet

# 2| | EVELTE M
# A2 1071 =1 =tol
top_n =10

top_positions = df['=&".value_counts().nlargest(top_n).index

#91 10702] ZMEE ZEISHES HO[E 2| THE

top_positions_df = df[df['=&"].isin(top_positions)]

# 2 | evelld A 74 EA|
positions_levell_counts = top_positions_df.pivot_table(index='S%" columns='LEVELT'
values="'count, aggfunc="size', fill_value=0)

# I B A 714 7|F02 LRIkE B

positions_levell_counts[‘counts'] = positions_levell_counts.sum(axis=1)
positions_levell_counts = positions_levell_counts.sort_values(by="'counts’,
ascending=True).drop(columns="counts')

# AN TR E M

palette = sns.color_palette("husl", len(positions_levell_counts.columns))

A
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# =X DiTH AHE A4

ax = positions_levell_counts.plot(kind="'barh’, stacked=True, figsize=(14, 8), color=palette)

# 24 althol| BIAE 51 H|S A
threshold = 1000
for i, (levell, row) in enumerate(positions_levell_counts.iterrows()):
total = row.sum()
forj, (level2, value) in enumerate(row.items()):
if value > threshold: # 0| threshold ZH=CH 2 ZAR0THEIAES FA|
percentage = value / total * 100
X_pos = value / 2 + row.iloc[:j].sum()
Y_pos =i
ax.text(x_pos, y_pos,f{percentage:1f}%', va='center, ha='center’, color="black’)

# A Z0|7} threshold O5}2l it £ 2|
fori, total in enumerate(positions_levell_counts.sum(axis=1)):
if total <= threshold:
for bars in ax.containers:
bars[i].set_alpha(0.3)

plt.title(Z*H
plt.xlabel(*4!
plt.ylabel(AIEX} |t
plt.xticks(rotation=0)
plt.tight_layout()

plt.show()

# Z A | EVEL2 AME AL A2t}

# 419l ol K 2ol

= LEVELT A1 744+
bS
o

top_n =10
top_positions = df['=&".value_counts().nlargest(top_n).index

#4191 n7Hlel Fet BrSIEE Co|E{ma Y TEY

top_positions_df = df[df['=&"].isin(top_positions)]

# 2 Level2d AH 714 T
positions_level2_counts = top_positions_df.pivot_table(index='S%!" columns='LEVEL2'
values="'count’, aggfunc="size', fill_value=0)

#ZME X MK 248 7| ZOR LKt BB
positions_level2_counts['counts'] = positions_level2_counts.sum(axis=1)
positions_level2_counts = positions_level2_counts.sort_values(by='counts’,
ascending=True).drop(columns="counts')

# M T2 E M

palette = sns.color_palette("husl", len(positions_level2_counts.columns))
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# =X DiTH AHE A4

ax = positions_level2_counts.plot(kind='barh’, stacked=True, figsize=(14, 8), color=palette)

# 24 althol| BIAE 51 H|S A
threshold = 600
fori, (level2, row) in enumerate(positions_level2_counts.iterrows()):
total = row.sum()
forj, (level2, value) in enumerate(row.items()):
if value > threshold: # 0| threshold ZH=CH 2 ZAR0THEIAES FA|
percentage = value / total * 100
X_pos = value / 2 + row.iloc[:j].sum()
Y_pos =i
ax.text(x_pos, y_pos,f{level2} ({percentage:1f}%), va='center, ha='center,
color="black', fontsize=11)

# TH| 0|7t threshold O[stel SCH £ K2|
threshold = 800
fori, total in enumerate(positions_level2_counts.sum(axis=1)):
if total <= threshold:
for bars in ax.containers:
bars([i].set_alpha(0.2)

# 2T XS0 = 2k A
plt.title(ZAHH | EVEL2 A1 712
plt.xlabel(‘A1H 744"

plt.ylabel(' A& X} =|%H")
plt.tight_layout()

plt.show()

EAE | EVEL3E A A A3t

A2 n7H Z|A =tol

top_n1=10

top_positions = df['=&".value_counts().nlargest(top_n1).index
# 49| n7he| =AMt TOISHE S H|0|E T2 HEE

i

top_positions_df = df[df['S&!"].isin(top_positions)]

# A2 n7H2| LEVEL3 2l|o|2 MEH
top_n2 =10
top_level3 = df['LEVEL3"].value_counts().nlargest(top_n2).index

#ZIME | evel3E A1 2i5= EA| (421 107H Level3TF Zeh)

positions_level3_counts = top_positions_df[top_positions_df['LEVEL3'"].isin(top_level3)].
pivot_table(index="24!", columns="'LEVEL3', values='count, aggfunc="size', fill_value=0)
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# XS E MH ALE J|EOZ L2kt BE
positions_level3_counts['counts'] = positions_level3_counts.sum(axis=1)
positions_level3_counts = positions_level3_counts.sort_values(by='counts',

ascending=True).drop(columns="counts')

# AN TR E M

palette = sns.color_palette("husl”, len(positions_level3_counts.columns))

#425 oith KHE 44

ax = positions_level3_counts.plot(kind="'barh' stacked=True, figsize=(20, 8), color=palette)

# 2} ITHO BIAE S H|S HA|
threshold = 500
fori, (level3, row) in enumerate(positions_level3_counts.iterrows()):
total = row.sum()
forj, (level3, value) in enumerate(row.items()):
if value > threshold: # 20| threshold Z{ECH 2 ZRU2HEIAES HA|
percentage = value / total * 100
X_pos = value / 2 + row.iloc[:j].sum()
Y_pos =i
ax.text(x_pos, y_pos,f{level3} ({percentage:1f}%), va='center, ha='center'
color="black', fontsize=10)

# TA| Z0|7} threshold O[stel BT £ Xq2|
threshold = 840
fori, total in enumerate(positions_level2_counts.sum(axis=1)):
if total <= threshold:
for bars in ax.containers:
barsl[i].set_alpha(0.2)

# el M=ot = 2t A

plt.title(ZAHE LEVELS 18 74~ (42| 1071 LEVEL3)')
plt.xlabel(‘A1 Z4")

plt.ylabel("&IXt =24
plt.tight_layout()
plt.show()

ioiru

#7IX2) 9 A|2HE EM0| Pythong 283,
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Appendix

#OO|H 2= 9 MK2| 2

import os # 2FHNet HSEESH| -?I?J 2=
import openpyx! # Al mls ol

import pandas as pd # Cl|0|E{ &%} 8! —.‘i’——‘!
import numpy as np # $=X| A4S 2t 2to| =22

import re, warnings, random # &+t F&A 210 HAIX] Mo, = MHS (ot 25

from sklearn.feature_extraction.text import CountVectorizer, TfidfVectorizer # EIAE H[O|
B S HIESsL| @let =7

from konlpy.tag import Mecab # $H=0{ SHEf4 2447

# Tl Ak A2t}

from tqdm import tqdm # BH=E M MEiE AZEHOZ Ho{F = 2to|=22|

# AR 2
import torch # E2{'d 3 A HAtS [oF I
import gc # 7H|X| Z=M(H|22] 2H2]) 25

o

# CllOJE Al2f=h 2t

import matplotlib.pyplot as plt # H|O|E A|Z{=HE ¢[ot 2to|=ei2|
plt.rc(‘font! family="NanumGothicCoding') # Matplotlib0ilA] ot2 ZE &F
from wordcloud import WordCloud # 9= 22t2E MM S 2|t 2to|=e2|
import pyLDAvis as vis # ET REZ ANE A2f2tst= &7

import warnings

#ZDE ZA|

warnings.filterwarnings("ignore", category=DeprecationWarning) # £4 21 HA|X| 24|
import matplotlib as mpl

mpl.rcParams[‘axes.unicode_minus'] = False # Matplotlib0IX S4= 7| THE! X

# GI|O|E HEf =fol
df = pd.read_excel('data/helpdesk_info_main.xIsx').reset_index(names="key")
df.head(2)

pd.DataFrame(df.isna().sum()).T

# 2E nan 2t2 "= A
df = dffillna(") # HIO|E{Zai|e| RE AXS ¢l EXIE 2 CHA|

Ri=5t L2 ZE(RI2l 22, AT Etolmst| th2o EXoUalo] ZetAlHore] Mz

Qo
-

'‘Combined_Text'] = df[ TITLE'] +'"' + df[REQST_CN'] # 'TITLE'Zt 'REQST_CN' Z&E &
50| 'Combined_Text'2H= MZ2 ZiE MM
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# B0 H M2 = A=K &
pd.DataFrame(df.isna().sum()).T # 2t Z&2| 2Z3t 78 M1, 0| HoE oz Het
510 =5

temp = df.copy()

&

# ETLIOINE ARZSH0 THoq Tl Ao
temp['word_count'] = temp['REQST_CN'].apply(lambda x: len(Mecab().morphs(x)))

# 2| 2F2| 7|1F: 20EH01 Ol (FO{ 7IE, 2{Zgt 2ol g)

long_sentences = temp[temp['word_count'] > 20]

# =2 20| 21 AlZfet

plt.figure(figsize=(14, 6))

plt.hist(temp['word_count], bins=250, alpha=0.99, color="#007ACC', edgecolor="black’)
plt.title('Distribution of Sentence Lengths (Word Count)', fontsize=24)
plt.xlabel('Number of Words', fontsize=18)

plt.ylabel('Frequency’, fontsize=18)

plt.axvline(x=20, color="red, linestyle="--' label="Long Sentence Threshold (20 words)')
plt.legend(fontsize=16)

plt.grid(axis="y, alpha=0.75)

plt.xticks(fontsize=18)

plt.yticks(fontsize=18)

plt.show()

# Lot ato|=z2{2| X

# %pip install contextualized-topic-models==2.5.0 # CTM 2f0|=2{2| & x|

# %pip install pyldavis # pyLDAvis 2t0|=2{2| AX|

# Mecab M| 2HH2 https://github.com/hephaex/mecab-ko?tab=readme-ov-file &=

# CTM 2 import

from sentence_transformers import SentenceTransformer # 2% Q| S (ot 2t0|22{2|
from contextualized_topic_models.models.ctm import CombinedTM # CTM 2% SaiA
from contextualized_topic_models.utils.data_preparation import
TopicModelDataPreparation, bert_embeddings_from_list # H|O|E =H| RE2|E|

from  contextualized_topic_models.evaluation.measures  import ~ CoherenceNPMI,
CoherenceUMASS # ET At X7

from contextualized_topic_models.utils.preprocessing import WhiteSpacePreprocessing
# TIx2| RE2IE

# NS Aot A A=zt R 0
random.seed(2024) # TIO[4 7|2 2 A= 11
np.random.seed(2024) # numpy 2= A= 0
torch.manual_seed(2024) # PyTorch & A= 1

~
o
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# Topic ZEZS 2ot B4 B dy
documents = df['Combined_Text'].to_list() # 'Combined_Text' €| 2E Z}S 2|AER HEt
St0{ documents H=~01] MEf

#9lE 2 IR AT SESHPA 2 Agte] FH2ISH HINE 2A Wt

preprocessed_documents = []

#280{ 2| AE Fo|
stopwords = [AFS, “EAY, R ', S, ) AN RIRl 'RA, B, Kl Hel, HIS: AfH|A
A R SRR AR MUA ] R AT

LHR! R M AR AR RS ThE| AT 2 a) A Tl R S ARRKE, 712k
|0l A, TIEF, O IS, 2o,

ST R SR A S g Al i oI YAl 19| AL TSl 'CHIOf 'Hop!
T, AR, A B

R LS D AL S IR, T SLICE MR, AR, LTkl oee
Ef, 'T2{LE, BILICE, OIAY, 'SRILICE, REf,

02! =0, Ths) 'SR, SAY, G, HILICK =, 'Bter, '2lgt, 2ol w2 ot g, 2e|

]
# stopwords = []

def clean_text(text):
# Ex ZXIE SO = CHM[SHD 7Hl EXHE HA
text = re.sub(r'[*7t-g\s]" " " text.replace(\n’ "))
# ALE ZES T SO = CHA|
text = re.sub(r'\s+ "' text)
# oF 2K O H|A
text = "'join([word for word in text.split() if len(word) > 1])
return text

#HE M HM2| (B2t H A 2L et=2t '"717])
preprocessed_documents = [clean_text(line) for line in tgdm(documents) if line and not
line.replace('!, ").isdecimal()]

class CustomTokenizer:
def __init__(self, tagger, stopwords):
selftagger = tagger # HE{A EA7| x7|st
self.stopwords = stopwords # 280 2|AE XT3}

def clean_text(self, text):
S EXHHEA
text = re.sub(r'[*7F-2\s]" " text)
#or=2 < Xt A
text = re.sub(r'[* -5 k- | 7] ™ text)
return text
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def _call__(self, sent):
HEAE HE2|
sent = self.clean_text(sent)
# FElA 2Mg Sl tHol E2%
word_tokens = self.tagger.morphs(sent)
# =80 M7 8L 20|71 0[5l o FA
result = [word for word in word_tokens if word not in self.stopwords and len(word) > 1]
return result

#HAE ETLIOIN X£7|3}
custom_tokenizer = CustomTokenizer(Mecab(), stopwords)

# TfidfVectorizer 7|2} 5! Bow H|E A4
vectorizer = TfidfVectorizer(tokenizer=custom_tokenizer, max_features=3000) # TF-IDF
7|9t e}

train_bow_embeddings = vectorizerfit_transform(preprocessed_documents) # Tx{2|=!
=ME HIE2FSH] Bow | 444

H E}XE1

print(train_bow_embeddings.shape) # A4l Bow Ut HEH £

vocab = vectorizer.get_feature_names_out() # HE{St IFH0|IM FEEI T 22
id2token = {k: v for k, v in zip(range(0, len(vocab)), vocab)} # THo{ QIS A9} HoZ DiLs}
== PSIEEIEES

print(len(vocab)) # 1R {2 7{4 £

#GPU AL o5 &3
device = torch.device("cuda" if torch.cuda.is_available() else "cpu") # CUDA At 7ts Al
GPU, OfL|H CPU HF

#BERT e Wd &= 3
def bert_embeddings_from_list_gpu(documents, model_name):
model = SentenceTransformer(model_name) # BERT 22 *x7|a}
model = model.to(device) # ZES GPUR 0|5
embeddings = model.encode(documents, batch_size=32, convert_to_tensor=True,
show_progress_bar=True, device=device) # &A| 2| AEE BERT QH|TOZ Het
return embeddings.cpu().numpy() # Z2tE CHA| CPUZ 0S50 numpy HHEE H2t

#GPUE AHE3I0] HE Ay

# train_contextualized_embeddings = bert_embeddings_from_list_gpu(preprocessed_

documents, "sentence-transformers/xim-r-100langs-bert-base-nli-stsb-mean-tokens")
# BERT il 4y
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train_contextualized_embeddings =  bert_embeddings_from_list_gpu(preprocessed_
documents, "jhgan/ko-sroberta-multitask”) # 2t=0{ BERT 2tl|E X< [https://github.com/
jhgan00/ko-sentence-transformers?tab=readme-ov-file]

# J7H|X| Z2iE dl

gc.collect() # 7HH|X| 22 M S SH ALESHX| fb= tI=E| He

# IHAIE 22| H| 27|

torch.cuda.empty_cache() # GPU FHAIEl HI22| H|R7|

# SBERT Hi|O|E{ &H|
gt = TopicModelDataPreparation() # TopicModelDataPreparation 224 £7|zt

training_dataset = qt.load(train_contextualized_embeddings, train_bow_embeddings,
id2token) # =2 H|O|E{Al A

#0f2] ) 0 W2 HIL ZUE MEY 2[AE
topic_nums = range(2, 21)

npmi_scores = []

umass_scores = []

#EZME HO| 2|AE MO = Het

texts = [doc.split() for doc in preprocessed_documents]

for num_topics in topic_nums:

# CTM (Contextualized Topic Model) 222 A gl &t

# bow_size: Bow HE{2| 37|, contextual_size: BERT 2H|E X n_components: EZ 2=,
num_epochs: 0| % 4=

ctm = Combined TM(bow_size=len(vocab), contextual_size=768, n_components=num_
topics, num_epochs=10)

ctm. fit(training_dataset) # 22 st

i)

#otGE DES MY ClEER| 4

model_dir = f'models/ctm_{num_topics}_topics'

if not os.path.exists(model_dir):
os.makedirs(model_dir) # CIHER|7t GO MY

ctm.save(model_dir) # 22 Xz

# DO EL| 2|AE &
topics = ctm.get_topic_lists()

# CoherenceNPMI 2|4t

npmi = CoherenceNPMI(texts=texts, topics=topics) # NPMI A4t 2[ot 24| Mo
npmi_score = npmi.score() # NPMI &%= AHlAt

npmi_scores.append(npmi_score) # NPMI &4E 2|AE0f| =7}
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# CoherenceUMass 7|4t

umass = CoherenceUMASS (texts=texts, topics=topics) # UMass AlAS o ZHA| A4
umass_score = umass.score() # UMass == A4t
umass_scores.append(umass_score) # UMass &5 2|AE0f| 7t

#Z1 £
print(f"Number of Topics: {num_topics}, Coherence NPMI: {npmi_score}, Coherence
UMass: {umass_score}")

# 7H|X] 22 A

gc.collect() # H=2| He|

# IHAIE HZE2| H|2R7]

torch.cuda.empty_cache() # GPU FHA|El H|22| H|R7|

# |dentify the highest scores

max_npmi_score = max(npmi_scores)

max_umass_score = max(umass_scores)

max_npmi_index = npmi_scores.index(max_npmi_score)
max_umass_index = umass_scores.index(max_umass_score)

# £1j0| 10749l ZPo| leiA Al

topic_10_index = topic_nums.index(10)

plt.figure(figsize=(24, 8))

# Coherence NPMI 22

plt.subplot(1, 2, 1)

plt.plot(topic_nums, npmi_scores, marker='0')

plt.title('Coherence NPMI by Number of Topics', fontsize=30)

plt.xlabel('Number of Topics', fontsize=19)

plt.ylabel('Coherence NPMI Score', fontsize=19)

plt.xticks(range(min(topic_nums), max(topic_nums) + 1, 1),fontsize=15) # X= &2 20|=
37| &4

plt.axvline(x=topic_nums[max_npmi_index],  color='r, linestyle='--!
label="Max NPMI') # Z|CH NPMIO||A] 27 tA4 4

plt.axvline(x=10, color="r linestyle='--' linewidth=1.5, label='Secondary') # EZ|0| 1074¢!

A nRr M

linewidth=1.5,

plt.scatter(topic_nums[max_npmi_index], max_npmi_score, color='r, zorder=5) # Z|CH{
NPMIOI| A 7t X

plt.scatter(10, npmi_scores[topic_10_index], color="r, zorder=5) # EZ|0| 107H¢! H<L m}2t
AH &

plt.legend(fontsize=15)
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# Coherence UMass 2%

plt.subplot(1, 2, 2)

plt.plot(topic_nums, umass_scores, marker='o0")

plt.title('Coherence UMass by Number of Topics', fontsize=30)

plt.xlabel('Number of Topics', fontsize=19)

plt.ylabel('Coherence UMass Score', fontsize=19)

plt.xticks(range(min(topic_nums), max(topic_nums) + 1, 1),fontsize=15) # Xz &2 &ll0|=2
37| 4

plt.axvline(x=topic_nums[max_umass_index], color='r, linestyle="--\ linewidth=1.5,
label='"Max UMass') # Z|CH UMassOi| A 7 T
plt.axvline(x=10, color="r' linestyle='--' linewidth=1.5, label='Secondary') # EZI0| 1074¢!

2 mEhd JM M

plt.scatter(topic_nums[max_umass_index], max_umass_score, color="r', zorder=5) # £|C}{
UMassOi|Af 7 kA &

plt.scatter(10, umass_scores[topic_10_index], color="r, zorder=5) # EZI0| 10712! AL n}
ZHA X

plt.legend(fontsize=15)

plt.tight_layout()
plt.show()

# CombinedTM Zi{&|| 44

ctm = CombinedTM(bow_size=len(vocab), contextual_size=768, n_components=num_
topics, num_epochs=20)

# DA CAED| 20 of 23 MY

model_dir = 'models/ctm_10_topics/contextualized_topic_model_nc_10_tpm_0.0_tpv_0.9_
hs_prodLDA_ac_(100, 100)_do_softplus_Ir_0.2_mo_0.002_rp_0.99'

epoch =9

#EDE 2

ctm.load(model_dir=model_dir, epoch=epoch)

topic_distributions = ctm.get_doc_topic_distribution(training_dataset) # 2t 2A{0j| st £

o 2 Al

#2H 2M2 BT ot
assigned_topics = np.argmax (topic_distributions, axis=1) # 2} 2A10] Ll 71& =2 &5S

JrE Ex ety

df['Topic_num'] = assigned_topics # CI0|E{ Z2{|Qlof| Eetel £
df.to_csv(KCTM_result_appended_data.csv'index=False) #
# df = df.drop(columns=['Combined_Text'],axis=1)

df #Ho|Hze| ==
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# pd.DataFrame(ctm.get_topic_lists(),columns=['TopicO' Topic1, Topic2' Topic3' Topic4' T
opic5! Topic6' Topic7' Topic8' Topic9').to_csv('topic_list.csv'index=False)

topic_word = pd.DataFrame(ctm.get_topic_lists(),columns=['TopicQ' Topic1, Topic2' Topic
3''"Topic4' ' Topic5' Topic6' Topic7' Topic8' Topic9']).T

topic_word

|da_vis_data = ctm.get_ldavis_data_format(vocab, training_dataset, n_samples=10)

ctm_pd = vis.prepare(**Ida_vis_data)
vis.display(ctm_pd)

def get_wordclouds(ctm, num_topics, n_words=20, background_color="blacK",
width=600, height=300,

font_path="/usr/share/fonts/truetype/nanum/NanumBarunGothic.ttf, n_rows=5,
n_cols=4,dpi=300):

MEERS M50 of2] EXjof tist | =22t*=E DU

:param ctm: EZ| 22 ZHH|

:param num_topics: EA|Z ET 5~

:param n_words: Zf {IE S2tR=0]| FAIZ T
:param background_color: ¥= S22 E=2| HHZE A
:param width: Zf /= 22t 0|0|X|2] L{H|

:param height: 2f $/= 22t2E 0[0|X|9| &=0|

:param font_path: ¥/= E2IRE0| ALY EES| E2
:param n_rows: A|\EEF9| & 4

:param n_cols: N\EERS| & 4=

#MEEZ dY

fig, axes = plt.subplots(n_rows, n_cols, figsize=(n_cols * 6, n_rows * 4), dpi=dpi)
axes = axes.flatten()

for topic_id in range(num_topics):

#2f ELO| O] 21 71M 27|

word_score_list = ctm.get_word_distribution_by_topic_id(topic_id)[:n_words]

word_score_dict = {tup[0]: tup[1] for tup in word_score_list}

#QE SEI2E MM

wordcloud = WordCloud(width=width, height=height, background_color=background_
color, font_path=font_path,

colormap="viridis', # MAMS viridisZ &%
font_step=1, max_font_size=100, relative_scaling=0.5,
prefer_horizontal=0.9
).generate_from_frequencies(word_score_dict)

# MEEZR0| 9= S2H2E 0|0|X| EA|

axes[topic_id].imshow(wordcloud, interpolation="bilinear')
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axes[topic_id].axis("off")
axes[topic_id].set_title("Topic " + str(topic_id), fontsize=18)

#EH2 MESZ 5717]
for ax in axes[num_topics:]:
ax.axis("off")

plt.tight_layout()
plt.show()

# ALE Ol|F|
get_wordclouds(ctm, num_topics=10, n_words=20, font_path="'/usr/share/fonts/truetype/
nanum/NanumSquareEB.ttf, n_rows=4, n_cols=3,dpi=600)

# 2T Zup =tol
final_df = df.copy()
final_df

topic_word
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Appendix

import pandas as pd

import openpyx|

import random

from datetime import datetime, timedelta

#O[O|H 2E

file_path = 'C:/Users/ddibo/Synthetic_data/2|'F.xIsx'
df = pd.read_excel(file_path)

#X7| H|O|E =l

print(df.head())

2ol

=X
df. |sna() m()

# 2|5 LHE0| el & A
df = df. dropna(subset=[2|FLI")

# 71UEY, 2| FLHE, BEC nRe =&
store_names = df['7tH&E".unique()
review_texts = df['2'FLHE"].unique()
star_ratings = df["&%&'.unique()

# ClloJE{ Ao ZHe 2 el Ho|
start_date = df['Z-&2'].min()
end_date = df[ 24 2'.max()
# 7T MM o
# MER 7YX S P22 MY6t7| 3t &5 He|
def generate_random_store_name():

# 7IUWHE 0|52 7 45t= FFAL 2 Of0|H, HO|AF2[AES F9

prefixes = ["HFE", "&| 1" "d=ob "SIQl=" "ol "HAY egt "EE" "AlMet "Het,
"HO| R

items = ["X[ZI" "X}, "SR CRRR S EHE0|" NETMA" T "AH|0| 3" Ml e, ol
" "2peE i Rk YIEAER]

suffixes = ["&l" "ZHAI", "Alg, " HEFY Y ElE, toket, 2L R e I
b 2]

#24240] Bl A0 DAR|2 SHLIY Mefel ZBtsto] JhUEE Mo

return random.choice(prefixes) + random.choice(items) + random.choice(suffixes)
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# 2|57 ek o
def to_teen_daegu_dialect(review):
# A2 2R 82 Hetd Ty Eoig Aol Fel
transformations = {
SRR Bk
THEFER 2 Ak ek ok LT~ T EE AIZAY,

tr
E| D021 R

1

QL SA| ZEAFBILICE: 'IHRIRH0IZ ~ IOfRS-!
KIZIH DA SHAF 07| AIHZHOIR 11 K|7) W7 |t A o7 |2l
' QIS LICE: & SUAC-!
'2A10] HY UQUUIR~ B HABLICH: 'S4| #oH & SUAG!,
B B2 D DT EALICH & HQALICE: S JjeE D SHE ok & 2QIAIE
'S Z0f| ST AAL S LICH" 'S20] b E{X[A| 2202~
2 A QIS LICH- LR & S
Zoje vl ZLt w2 Soie-

}

# AFHOl| Hofot Het HAlg pIE 2|57 L0 XME

for original, transformed in transformations.items():
review = review.replace(original, transformed)

return review

# SIS T} A B
# 50Tl T} 9] Lol M SAI9|2 LIS alst| Sigt S48 Fe|

def random_date(start, end):
return start + timedelta(seconds=random.randint(0, int((end - start).total_seconds())))

#MS 0|5 4

# 7|1Z HO[HE 7|HICZ 71UEY, 2|7 W&, ZH8Y, B8 FA%I2 45t MZR HlolH
SUE

df[ 7™ "] = [generate_random_store_name() for _in range(len(df))]

dff'2|HLH8] = [to_teen_daegu_dialect(random.choice(review_texts)) for _ in

df["&&" = [random.randint(1, 5) for _in range(len(df))]

# UHE WS HO|EE A o= MY
output_file_path_translated = 'D:/Synthetic data/synthetic_data.xIsx'
df.to_excel(output_file_path_translated, index=False)
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Appendix

import numpy as np
import pandas as pd

import dask.array as da
import dask.bag as db

from dask.distributed import LocalCluster
import dask.dataframe as dd
import glob

import numpy as np
import dask.array as da

cluster = LocalCluster(n_workers=12, threads_per_worker=2)
client = cluster.get_client()

client

# It 22 IifE o

file_pattern = '2021/01.AMH|AQIF/*pcell_time_pop*csV'

# globS AFE5H0] M IHEO| Sh= & MY 2|AE 7 Q7|
file_list = glob.glob(file_pattern)

#IH A= THE HO|

file_pattern = '2022/01.AH| A 21 /*pcell_time_pop*.csv'
file_list.extend(glob.glob(file_pattern))

file_pattern = '2023/01.AH|AQIL/*/*pcell_time_pop*csv'
file_list.extend(glob.glob(file_pattern))

file_pattern = '2024/01.AH|AQIT/*/*pcell_time_pop*csV'
file_list.extend(glob.glob(file_pattern))
file_list.remove('2021/01.A{H|AQI\\daegu_service_pcell_time_pop_202109.csVv')

len(file_list)
# Load data
df = dd.read_csv(file_list, delimiter=']' encoding="utf-8' blocksize='50MB')

df

# TN Aof =2 FELICE

total_rows = df.isna.sum().compute()
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#En £

print("HH| 22| 2~ total_rows.compute())

#EZK 2ol

df.isna().sum().compute()

# Generate columns lists

h_columns = [f'H_T_{str(i).zfill(2)}' for i in range(24)]
w_columns = [f'W_T_{str(i).zfill(2)}' for i in range(24)]
v_columns = [f'V_T_{str(i).zfill(2)} foriin range(24)]

# Sum columns for each group
df['H_T_sum'] = df[h_columns].sum(axis=1)
df['W_T_sum'] = dffw_columns].sum(axis=1)
df['V_T_sum'] = df[v_columns].sum(axis=1)

# Drop original columns
df = df.drop(columns=h_columns + w_columns + v_columns)

# Convert STD_YMD to datetime
df['STD_YMD'] = dd.to_datetime(df['STD_YMD'], format='%Y %m%d’)

# Function to group by period and save
def group_by_period_and_save(df, period, filename_prefix):
period_df = df.copy()
if period == 'week":
period_df['period'] = period_df['STD_YMD'].dt.to_period('W').dt.start_time
elif period =="'month";
period_df['period'] = period_df['STD_YMD'].dt.to_period('M').dt.start_time
elif period == 'quarter":
period_df['period'] = period_df['STD_YMD'].dt.to_period('Q').dt.start_time
elif period == 'year"
period_df['period'] = period_df['STD_YMD'].dt.to_period('Y").dt.start_time
else:
raise ValueError("Invalid period. Choose from 'week', 'month’, 'quarter’, 'year'")

period_df['year'] = period_df['STD_YMD'].dt.year

# Group by the period and other columns, then sum

grouped_df = period_df.groupby(['period’, 'HCODE''X_COORD), 'Y_COORD']).agg({
'H_T_sum': 'sum’,
‘W_T_sum": 'sum,
V_T_sum': 'sum'

}).reset_index()
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return grouped_df
grouped_df = group_by_period_and_save(df, ‘week’ 'weekly_grouped')

# Example usage

group_by_period_and_save(df, 'week', 'weekly_grouped')
group_by._period_and_save(df, 'month’, 'monthly_grouped’)
group_by._period_and_save(df, '‘quarter’ ‘quarterly_grouped')
group_by_period_and_save(df, 'year 'yearly_grouped')

=T o
df = dd.read_csv('2021/01.AH|AQI7t/daegu_service_pcell_time_pop_202109.csv',
delimiter='[' encoding="utf-8' blocksize='25MB')
df
df =  dd.read_csv('2021/01.A4H|AQIF/daegu_service_pcell_time_pop_202109.csV'

delimiter='[' encoding="utf-8' blocksize='25MB')
foriin range(52):
try:
df.partitions[i].compute()
except:
print(i)

file_path = '2021/01.AH|AQ171/daegu_service_pcell_time_pop_202110.csV'

#775MB O|= 2IX| ALt (HIO|E the)
start_position = 1200 * 1024 * 1024 # 775MB

# It EX 2IX| 0|2 5E 27|

with open(file_path, 'rb') as file:
file.seek(start_position) # It IS 775MB 2IX|2 0|=
raw_data = file.read() # 3 X2 E7HX| 27|

#raw H|O|HE EXtE = Het
raw_data_str = raw_data.decode('utf-8')

print(raw_data_str[:])

df['HCODE'] = df[HCODE' // 100000
df['[HCODE'"].unique().compute()

#Z21 TER S A

filtered_df = df[(df['HCODE'"] // 100000 == 27710.0) | (df['HCODE'] // 100000 == 27290.0)]
result = filtered_df.compute()
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Appendix

1. HlolE TAZ

import numpy as np

import pandas as pd

import dask.array as da

import dask.bag as db

from dask.distributed import LocalCluster
import dask.dataframe as dd

import glob

# DaskE &8¢ HI0|E 22127| 8! 22{AH 4Y
# Dask2| LocalClusterZ AtEst0] S22{AEH A4

cluster = LocalCluster(n_workers=14, threads_per_worker=2)

# AYE S AE{0f| HZE Z2H0|AE 72|

client = cluster.get_client()

# I A2 o HO|
file_pattern = 'Data/2021/01.AH| A1 /*pcell_time_pop*.csv'

#glob ZE2 AFESH I IHE0| BHe 2E MY 2| AE T 27|
file_list = glob.glob(file_pattern)

# I Z 2 e o

file_pattern = 'Data/2022/01.AH| A QI /*pcell_time_pop*csv'
file_list.extend(glob.glob(file_pattern))

file_pattern = 'Data/2023/01.XH|A217/*/*pcell_time_pop*csv'
file_list.extend(glob.glob(file_pattern))

file_pattern = 'Data/2024/01.AH| A Q131 /*/*pcell_time_pop*.csv'
file_list.extend(glob.glob(file_pattern))

#Ol0JE{ 2 'blocksize' = Dask”Z} IHUS LH=0{ 8= el 28
df = dd.read_csv(file_list, delimiter='|', encoding="utf-8' blocksize='500MB')
df = df.drop(axis=1,columns=['HCODE''BLOCK_CD'])

1

H#EQ|ZLOZ O|AK| CHA|

# Y 2|AE 4y

h_columns = [f'H_T_{str(i).zfill(2)}' for i in range(24)]
w_columns = [f'W_T_{str(i).zfill(2)}' for i in range(24)]
v_columns = [f'V_T_{str(i).zfill(2)} foriin range(24)]

109



__Q T 7 HIE| O] Ef EH 2 HIE|

110

#DE P B AES St T

all_columns = h_columns + w_columns + v_columns

# SAZ AL

stats = df[all_columns].describe().compute()
stats.to_csv('D:/Project/stats.csV')

# XA SAHZE pandasE CHA| 2=

stats = pd.read_csv('D:/Project/stats.csv').set_index(‘Unnamed: 0')
stats

# B2 Z O|4X| CiX[Sh= == HO
def replace_outliers_with_median(df, columns, stats, multiplier=1.5):
def replace_partition(part, stats, columns):
for column in columns:
# IQR(AF2 R HRI)E 01 8510] 0| & K|Q| SFotidnt afoh
Q1 = stats.loc['25%', column]
Q3 = stats.loc['75%!, column]
IQR=Q3-Q1
lower_bound = Q1 - multiplier * IQR
upper_bound = Q3 + multiplier * IQR
median = stats.loc['50%/, column]

o

Al

#O0|eX| =2 UESH= B2 SIS UA|

condition = (part[column] < lower_bound) | (part[column] > upper_bound)
part[column] = np.where(condition, median, part[column])

return part

# Dask DataFrame0i|A{ 2t IIE[A40]| CiSH O| &X| CHA| e X E
df = df.map_partitions(replace_partition, stats=stats, columns=columns)

return df

df = replace_outliers_with_median(df, all_columns, stats)

#7|H2 M QF% 5l ME

# 2+ Z4210l| chal = A|
df['H_T_sum'] = df[h_columns].sum(axis=1)
df['W_T_sum'] = dffw_columns].sum(axis=1)
df['V_T_sum'] = df[v_columns].sum(axis=1)

#H= 28 HA

df = df.drop(columns=h_columns + w_columns + v_columns)
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# STD_YMD ZI& datetime 34|02 &g
df['STD_YMD'] = dd.to_datetime(df['STD_YMD'], format='%Y%m%d')

# 7|82 IESRSI 20 MESH= g e
def group_by_period_and_save(df, period, filename_prefix):
period_df = df.copy()
if period == 'week":
period_df['period'] = period_df['STD_YMD'].dt.to_period('W').dt.start_time
elif period == 'month":
period_df['period'] = period_df['STD_YMD'].dt.to_period('M').dt.start_time
elif period == 'quarter"
period_df['period'] = period_df['STD_YMD'].dt.to_period('Q").dt.start_time
elif period == 'year"
period_df['period'] = period_df['STD_YMD'].dt.to_period('Y").dt.start_time
else:
raise ValueError("Invalid period. Choose from 'week’, 'month’, ‘quarter’, 'year'")

period_df['year'] = period_df['STD_YMD'].dt.year

#37] 91 7|Et HYEE ISkt &A|

grouped_df = period_df.groupby(['period’, ’X_COORD!, 'Y_COORD']).agg({
'H_T_sum": 'sum,
‘W_T_sum": 'sum,
V_T_sum': 'sum’

}).reset_index()

# 37t M2|E 2l pandas H|0[E] ZefQo 2 Het
grouped_df = grouped_df.compute()

#7182 20E T2 ME
if period in ['week’, 'month']:
#AZEE L0 K
years = grouped_df['period'].dt.year.unique()
for year in years:
year_df = grouped_df[grouped_df['period'].dt.year == year]
year_df.to_csv(f'{filename_prefix}_{year}.csv, encoding="'utf-8' index=False)
print(f"Z22t7} {filename_prefix}_{year}.csv' TH0{| HZ=|ALLICE")
else:
# TA| HIO|E =2 S Stto| M2 X E
grouped_df.to_csv(f'{filename_prefix}.csv', encoding="utf-8', index=False)
print(f"2247+ {filename_prefix}.csv' 0| MEHE| QA& LICE")

m
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2. 3ZHHO|E 2

#37HOIOE 2o 9[3t 2to|E22] 22{27|
import geopandas as gpd

from shapely.geometry import Point

from shapely.geometry import Polygon

# Dask?| LocalClusters AFESH0] 22{AH AN

cluster = LocalCluster(n_workers=14, threads_per_worker=2)

# Yl S2AH0| HEE S2H0|AE 7t 7|

client = cluster.get_client()

# I Z=2 I Ho

file_pattern = 'result_data/monthly_grouped(coord)_*csv'

#glob RS2 AFE5I0] Ii THE0]| Sf= 2 E TH 2|AE JH Q7|
file_list = glob.glob(file_pattern)

#C|0|E| 2E 'blocksize' = Dask7t YS L0 o= tHel A
df = dd.read_csv(file_list[3], encoding="utf-8' blocksize='3MB')

# M= A7 37t H|0|E1E 2{012F GeoDataFrame(gdf)2 2 A&

gdf = gpd.read_file("RA\CH A& A| M2t Hshp.shp')

# QIEIA S THHFSIY idx'2h= 0| Z QYA HHS =Tt

gdf = gdf.reset_index(names="idx')

# POLYGONS)| 3kt RS 24t ZHEZ Helsh= a4 Mo

def convert_polygon_z_to_2d(polygon_z):
# 3K+ POLYGONS] (x, y) ZHHPHS 3=Z310{ 2D POLYGON A
polygon_2d = Polygon([(x, y) for x, y, z in polygon_z.exterior.coords])
return polygon_2d

# GeoDataFrame(gdf)2| 'geometry' ZZ 0]l = 3% POLYGON H|O|E{E 2K POLYGON

o= Het

gdf['geometry'] = gdf['geometry'].apply(convert_polygon_z_to_2d)

#ZHHAIS 51795 EA 2 AF

gdf = gdf.to_crs(epsg=5179)

# S OO 2 ot MY

gdf.to_csv('gdf.csv'index=False)

# DataFrame Wi ZHESO| ZatEl E229] idx 2tE MER EE 75t &
def assign_polygon_idx(df, gdf, x_col="X_COORD), y_col="Y_COORD):

# ZHEE Point Z{H| 2 #2510 GeoSeries M4

points = gpd.GeoSeries([Point(xy) for xy in zip(df[x_col], df[y_col])])
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# 2 LQIEJ} ot E2|=0] idx 2tS 37|
def get_polygon_idx(point):
for idx, polygon in gdf.iterrows():
if polygon['geometry'].contains(point):
return polygon('idx']
return None # OftH Z2| 20| = ZE|X| o= 2 None &F

riot

dff'idx'] = points.apply(get_polygon_idx)
return df

# 2} O|o| & IHE| 4 (df ) OICH gdfel Z2 |2 (e ZAN)ofl siEsh= 2
polygon_idx)E HE
comp = df.map_partitions(assign_polygon_idx, gdf)

# D E [0 A 2] Ats HHR X2|eh Zakcomp)S o ol 2ot

2 HE

result_df = comp.compute()

#757) 9 ol A ZRpHa DB T

grouped_df = result_df.groupby(['period’, 'idx']).agg({
'H_T_sum": 'sum/,
‘W_T_sum": 'sum,
V_T_sum': 'sum’

}).reset_index()

3. MeHE ol B 24

#CSVIIY ZR 2[AE

file_paths = [
'D:/Project/2021_idx_&®.csv,
'D:/Project/2022_idx_*42t#H csv!
'D:/Project/2023_idx_*4=tH csv!
'D:/Project/2024_idx_AH=H csv!

# CSV I 2 StLC| DataFrame22 17|
df_list = [pd.read_csv(file) for file in file_paths]
df = pd.concat(df_list, ignore_index=True)

# 'period' ZHE datetime@A|O= Hetstn A & HH 7t

df['period'] = pd.to_datetime(df['period'], format='%Y-%m-%d')

df['year'] = df['period'].dt.year
df['month'] = df['period'].dt.month
df = df.iloc[:1:]

|)\§
==

=17 =4
=20

SfLtel £E

| 74 RSl

ot

St
=

=(assign_

DataFrame2

- 2024
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#3ZHH|0lH Zet T 22127

gdf = pd.read_csv('D:/Project/gdf.csv')

#OlHlA AT 2l 7|ZOZ groupby

temp = df.groupby(['idx''year'month']).sum().reset_index()

#EHQot ZHOHHY

gdf = gdf[['idx' Layer1]

#idx 7|EC 2 temp®t gdf HIO|E]
df = pd.merge(gdf, temp, on="idx’how="left’)

df = df.drop(‘idx’ axis=1)

#TARAPEA 2 A (AT +2E+

Y el7 B

df.loc[;, 'T_T_sum'] = df.loc[;, 'H_T_sum':'V_T_sum'].sum(axis=1)

# AT, 2 layer 7|ZOE 25| SHA| A4t

grouped_df = df.groupby(['year, 'month’, 'Layer']).agg({

'H_T_sum": 'sum/,
‘W_T_sum": 'sum,
V_T_sum': 'sum’,
T_T_sum" 'sum’,
}).reset_index()

# pct_change 0i C0[E] & (SM)

grouped_df = grouped_df.sort_values(by=['year', 'month’, ‘Layer1)

#3572 28 4y

grouped_df[ HF=IAE7t=(%)'] = grouped_df.groupby(['Layer''month'])['H_T_sum'].pct_

change() * 100

grouped_df[ RI&RITAEIH=2(%)'] = grouped_df.groupby(['Layer ' month])['W_T_sum'].pct_

change() * 100

grouped_df[ 2RI E7t2(%)] =

change() * 100

grouped_df[ A 7SI+ (%)']

change() * 100

#2205 HE

grouped_df.groupby(['Layer 'month'])['V_T_sum'].pct_

grouped_df.groupby(['Layer 'month'])['T_T_sum'].pct_

grouped_df = grouped_df.rename(columns={

'year:'®L!
'month':'&!
‘Layer':AietHE!

H_T_sum"'AHFI A&
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RSP
for col in grouped_df.columns:
if col |= "2t
if ' S7F&"in col:
grouped_df[col] = grouped_df{col].apply(lambda x: round(x, 1) if pd.notnull(x) else x)
else:
grouped_df[col] = grouped_df[col].apply(lambda x: int(x) if pd.notnull(x) and
isinstance(x, (int, float)) else x)
# I|REHOE dd
fin = pd.pivot_table(grouped_df,
index=[42AHE" &1,
columns="AHE"
values=["AFAIFEA, EIERAFEA, LWEAAEA, THQIRLEA, AL BIHE
(%), RERITBIIE(%), "LEATLSIHE(%), THATLEIHE (%))

#ZP AL HF A HE

fin = fin.swaplevel(axis=1).sort_index(axis=1, level=0)
#@loh= =M= 2Y iEE
= -
(%), BHRATBIE (%), "Y2RUTBIHE (%), THUTFS7HE(%)']

#ZtACHE A oM WEE
ordered_columns = []
for year in sorted(fin.columns.levels[0]):
for col in desired_order:
ordered_columns.append((year, col))

fin = fin.reindex(columns=pd.Multilndex.from_tuples(ordered_columns))

#ZE oz 2

fin.columns.names = [AE' 'X|H]

# TA Z= S0l 3XF2[0ICH 20 =7 2! NaN 2t '-'2 ChA|
def format_values(x, col_name):
if pd.isna(x):
return '-'
elif ‘57" in col_namel[1]:
return f'{x:1f}" # Z7t8 S AT RX|
else:
return f'{int(x):,}" # LIHX| 2™ ~F M4 3L S0t =7}
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fin = fin.apply(lambda col: col.map(lambda x: format_values(x, col.name)))

# 2T 722 AL | ot e, AR, HEEE HE BUH "W Al
monthly_avg_growth = grouped_df.groupby([A&HE " "A=" '&1).agg({
"HFEQITBIHE (%) 'mean’,

EIERITEIE (%) 'mean,
HEATEBIHE(%)" 'mean;,
AT BIHE (%) 'mean),

}).reset_index()

# T SE0| 2 MAdsio] MR, A2 7E 9 i YT Z7les el
monthly_avg_pivot = pd.pivot_table(monthly_avg_growth,
index="A4gHAHE"
columns="¢x!,
values=[HFRUTAEIIE (%), HERUITEIIE(%), Y=2TFE7tE(%), T
HRATRB7H2(%)1,
aggfunc='mean’)

#ZB A H2| L o|E XF

monthly_avg_pivot.columns.names = [ X| &, ‘AL

# Y™ SIS HO|E 2L YA XIE
monthly_avg_pivot = monthly_avg_pivot.apply(lambda col: col.map(lambda x: f"{x:1f}" if
pd.notnull(x) else '-'))

monthly_avg_pivot
# A0 T2 E|0|2 ME

file_path = 'D:/Project/result_data/$3-4 0| HM|_AEH# xIsx'
monthly_avg_pivot.to_excel(file_path, index=True)
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Appendix

import os

import re

import pandas as pd

import numpy as np

import seaborn as sns

import matplotlib.pyplot as plt

# Seaborn AErY MX

sns.set_theme(style="whitegrid", palette="pastel")

plt.rc("font", family = "NanumGothic")
sns.set_theme(font="NanumGothic",
rc={"axes.unicode_minus":False}, style="'white')

# oM AZ20|M 2= CSV IS A0LA DataFrame2Z 12 =, 8tLto| DataFramelE HZ
csv_files = [file for file in os.listdir() if file.endswith(.CSV')]
dataframes = [pd.read_csv(file,encoding='cp949') for file in csv_files]
#ZAUE SL EHR
print(dataframes[0].columns)
print(dataframes[1].columns)
print(dataframes[2].columns)
print(dataframes[3].columns)
print(dataframes[4].columns)
dataframes[0] = dataframes[0].drop(columns=['Z&X| {5 X|0t0t2 Z R M| SCH-K| (A2
L) O AH|0]Ef ZIHURE))
dataframes[0].columns = [7|ZEHE 7IX} LTz A|Z2E] WHIAE! AL (5|
I:|-0|)' VA|xr(5Cm|:f |)
HIF (5Kg THRl), SiEIS2l, AR (), AR (R), HHE), FH(R), =57 2L

olaty| et MY (SEEY), 'S SUAHIE, 'ECIZ2|M210|=! 'HDL S AHIE, 'LDL

H, T

S AHE,

GMA! I EH Fe|otE|H, (FEXIQEN)AST, (EHEX|LQEALT, ‘&0t XIE|T], 'S¢
AER!

'SFEOE TLUAUT SR K|OFRLA SRR, KA
dataframes[1].columns = [7|EHE! 7tX YHHS A CDE HEAL! 'HFH] T=(5M|E

9I), ‘WF(ECmE),
HIE(5Kg EI), SRS, "NI={(EY, 'AA(2), M), (), 437 B,

1

ojR g AT (SEEY), 'S 22AEIE, 'E2IS2|M2I0| S, 'HDL S22 AH|E 'LDL

=X
SYAHIE,

SMA QTR S a)|0LE[Ll (FRX|QE|)AST! (ZEX|QE|)ALT, 20} XIE[T| 'S
e,

i

SHOI LT SO, KOIRABRE, KA

1
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ZEEE, TR YRl A EACS HYEAS ALY (5

1 1

dataframes[2].columns = ['7
THR[), AEHECMELR])!

HIE (5Kg THl), SISl AR (E), Al (R), HHE, HH(R), 57 e

'ofety| def AMdEl(SEYY), 'S S2|AHIE, 'E2|22| 20| 'HDL S2AHIE! 'LDL
S AHIE,

G QT HE T E||OtE| Ll (FAX|QE|)AST, (BEXILE|)ALT, &0t X[E[D], 'SH

AER,

ST LLHT =L, K[OFRASFE, KA
dataframes([3].columns = ['7|EHE" 7K YHHS' AL WHIAE! 'HHH Z=(5A|
|:|-0|)I 'Alxk(5Cm|:|- |)

HIE(5Kg ), SlEIS2l, A= (), AR (), HE(E, HE(R), =57 e

o] gef AMdE(SEEY), 'S Se|AHIE, 'EBIS2| 20|, 'HDL S2|AHIE!, 'LDL

©:
=, =t o= =20

ECE==

GMA! QT T TotE| !, (FEXIQE)AST, (EXEX|QE)ALT, ‘20t XIE|T], 'S¢
AER,

'SEHE, LLUUT +HHE, K ORAB R, KA
dataframes[4] = dataframes[4].drop(columns=['Z&X| F"'X|0l0t2E 7" F| SCHTLK| (AFZf
L{) Ol&T)
dataframes[4].columns = [7|ZEE, 7tX EHS A|ZTE! "WHTAC! AP (5|
CHQ|) AR ECMELS]),

HIE(5Kg £H2l), SIS, Al (Y, Al (R), HE(F, HEH(R), '+=57 €Y

oletr] gef Mg (S=EY), 'S SUAHIE, 'ECIZ2|M2I0|E 'HDL S AHIE 'LDL
S AHE,

HMA QT EH FeotE|H, (HEXIQE|)AST, (EEX|QEALT, ‘&0t XIET], 'S¢
ALER!

oy

ST YT £ZCI, KOILABRD! K A]]

# dataframes 2|AE0]| = ZE HO|H 2| S SILIZ Ht
merged_df = pd.concat(dataframes, axis=0, ignore_index=True)
merged_df

#2.2f Ho| ZEX| Hlg Thef & Al2fet

plt.figure(figsize=(12, 8))

missing_ratio = merged_df.isnull().mean().sort_values(ascending=False) * 100
sns.barplot(y=missing_ratio.index, x=missing_ratio, palette="coolwarm")
plttitle(ZZE 2ZX| HIE (%))

plt.xlabel(Z2&X| H|E (%))

plt.ylabel(Z&HH")
plt.show()

import os

import torch
import torch.nn as nn

import torch.optim as optim

from torch.utils.data import DatalLoader, Dataset
import numpy as np
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import pandas as pd
from tgdm import tgdm

# CUDA L|HZ S ?I¢t etg He 43

os.environ["CUDA_LAUNCH_BLOCKING'] = "1"

#GPU &%
device = torch.device("cuda" if torch.cuda.is_available() else "cpu")

# VAE 22 Mo
class VAE(nn.Module):
def __init__(self, input_dim, hidden_dim, latent_dim):

super(VAE, self).__init_()
self.fc1 = nn.Linear(input_dim, hidden_dim)
selffc21 = nn.Linear(hidden_dim, latent_dim) # &x 37t
self.fc22 = nn.Linear(hidden_dim, latent_dim) # &x{ S7to| EETX}
self.fc3 = nn.Linear(latent_dim, hidden_dim)
self.fc4 = nn.Linear(hidden_dim, input_dim)

ot
ET

def encode(self, x):
h1 = torch.relu(self.fc1(x))
return self.fc21(h1), self.fc22(h1)

def reparameterize(self, mu, logvar):
std = torch.exp(0.5 * logvar)
eps = torch.randn_like(std)
return mu + eps * std

def decode(self, z):
h3 = torch.relu(self.fc3(z))
return self.fc4(h3)

def forward(self, x):
mu, logvar = self.encode(x)
z = self.reparameterize(mu, logvar)
return self.decode(z), mu, logvar

# MSE &4 &= Fo| (NaN 2ZX|8)
def vae_loss_mse(recon_x, X, mu, logvar):
MSE = nn.functional.mse_loss(recon_x, x, reduction="'sum’)
# MM E 2|l logvar.clamp(min=-20) X7t
KLD =-0.5 * torch.sum(1 + logvar.clamp(min=-20) - mu.pow(2) - logvar.clamp(min=-20).

exp())
return MSE + KLD
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# AZ2H0| gl= HI0|H ot e
def train_vae(model, dataloader, optimizer, epochs=20):
model.train()
for epoch in range(epochs):
total_loss = 0
total_correct = 0
total_samples = 0
with tgdm(dataloader, unit="batch") as tepoch:
tepoch.set_description(f"Epoch {epoch + 1}/{epochs}")
for batch in tepoch:
batch = batch.to(device)
optimizer.zero_grad()
recon_batch, mu, logvar = model(batch)
loss = vae_loss_mse(recon_batch, batch, mu, logvar)

# NaN 2HX|Z ?/e {2

if torch.isnan(loss):
# print("Warning: Loss is NaN, skipping this batch")
continue

# {7} 9l 2| x{st
loss.backward()
optimizer.step()

# HiX|Q 2A 8l Mete
total_loss += loss.item()
total_samples += batch.size(0)

# T AL (ZARE H i, B0l 3 =T 7ts)
correct = (recon_batch.round() == batch).sum().item()
total_correct += correct

# 718 A2 ilo|=

tepoch.set_postfix(loss=loss.item(), accuracy=100 * total_correct / total_samples)

avg_loss = total_loss / total_samples
accuracy = 100 * total_correct / total_samples
print(f"Epoch {epoch + 1}, Average Loss: {avg_loss:.4f}, Accuracy: {accuracy:.2f}%")

# CustomDataset A4
class CustomDataset(Dataset):
def _init__(self, data):
if isinstance(data, pd.DataFrame):
self.data = data.values
else:
self.data = data
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# CllOJE] L} Z2Z210| /U2 F2R 022 13 (TRA| CHE YHO R X2| 7ts)

o
self.data = np.nan_to_num(self.data)

def _len__(self):
return len(self.data)

def _getitem__(self, idx):
return torch.tensor(self.data[idx], dtype=torch.float32)

#EE Et el

def impute_missing_values(model, data_with_nan):
model.eval()
imputed_data = data_with_nan.copy()
# A& UK =l
missing_mask = np.isnan(imputed_data)
imputed_data[missing_mask] = 0

# CO|Ef of| =
imputed_data = torch.tensor(imputed_data, dtype=torch.float32).to(device)
with torch.no_grad():

imputed_data, _, _ = model(imputed_data)

# =215l o AT} x|
imputed_data = imputed_data.cpu().numpy()
data_with_nan[missing_mask] = imputed_data[missing_mask]

return data_with_nan
from sklearn.preprocessing import StandardScaler

scaler = StandardScaler()
# Cll0JEf TX2|
def preprocess_data(scaler,data, flag):
if flag == 0:
# ZE3S 022 A
data = np.nan_to_num(data, nan=0.0, posinf=0.0, neginf=0.0)
# AU
data = scaler.fit_transform(data)
else:
data = scaler.transform(data)
return data

# &N Hlo[H T2 HE

data=preprocess_data(scaler,merged_df.dropna(axis=0).reset_index(drop=True),flag=0)
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# Cl|O|E{AIOf| AE|E COJE HE
dataset = CustomDataset(data)
dataloader = DatalLoader(dataset, batch_size=32, shuffle=True)

# AXgt A= CIO[EH|E St TM2| HE
missing_data = preprocess_data(scaler, merged_df[merged_df.isna().any(axis=1)].reset_
index(drop=True),flag=1)

#29 x7|5 9 B

input_dim = data.shape[1]

hidden_dim = 20

latent_dim =5

vae = VAE(input_dim, hidden_dim, latent_dim).to(device) # 22 GPUZ 0|5
optimizer = optim.Adam(vae.parameters(), Ir=1e-3)

"A
#DH oS

train_vae(vae, dataloader, optimizer, epochs=20)

# AR HYE
imputed_data = impute_missing_values(vae, missing_data)

print("Imputed Data with Missing Values:")
print(imputed_data)

interpolated_data = pd.DataFrame(scaler.inverse_transform(imputed_
data),columns=merged_df.columns)

#1. 220 A2t l= HOIE ®A = X|ot RAIF, X4

columns_to_drop = ['A[OtRAZRF! 'K|4]

interpolated_data.drop(columns=columns_to_drop, inplace=True)

print("®M7 = Z&:" columns_to_drop)

1

#3. 2178 w4 2t ofzist 5
HESFTHE 052 YARCEEHE ~05=>0105~10=>10
HESHMEN1~15=2>1116~2=22[|2~25=>2|25~30=>30
#EFE o 2%

# 2} H=20| 07t 70 w2t gt et
for col in categorical_fill_mode:
if col in interpolated_data.columns: # 2= ZXH o{5 2ol
# O[Tt =4 7%“3
if col == '§F0{&
#3F0{8:050[8t = 0,05 =2t =



DIP 2IH[0|E{ 2 MIE] HIO|E 24 8! HAE X2ARIE - 2024

interpolated_data[col] = interpolated_data[col].apply(lambda x: O if x <= 0.5 else 1)
elif col == "SHAEN:
# SHAEN: 0T Helof w2t gt of st
def binarize_smoking_status(x):
if1<=x<=15:
return 1
elif 1.6 <= x <= 2.5
return 2
elif 2.5 < x <= 3.0:
return 3
else:
return x # HeIE HOLt= 22 JCHE |X|

interpolated_data[col] = interpolated_data[col].apply(binarize_smoking_status)

#4. A0 AEK|= W (2 HMA

interpolated_data.dropna(inplace=True)
# Zat =tol
print("Z& X X2| = Hl|o|E{e] 37| interpolated_data.shape)

print("A&X| XM2| = 22 BEX| 7=\n", interpolated_data.isnull().sum())

# ZEX|7} giE H|0|E{2f concat

final_data =  pd.concat([merged_df.dropna(axis=0).reset_index(drop=True).loc[:,:-
2],interpolated_datal]).reset_index(drop=True)
final_data

# AlZfstet =X

LTINS

numeric_cols =

[
LIF(ECmERR]), M (5Kg TH), A (E), AR (R), H2IS2, =7 G, 0l Eel, A
=

1

H(S=EEY), 'S SULAHE, 'ECIS2|M2[0|E! 'HDL S| AHIE, 'LDL S| AHIZ,

=7

il

& &

M AT OE| L (HEXIQE|)AST, (ZEX|ILQE|)ALT, 'Z0} X|E[m|!

1

# ez AXE A
n_cols = 5 # ot Hof| A D2z &
n_rows = (len(numeric_cols) + n_cols - 1) // n_cols # & 3 4= 7|4t

# Figure A
fig, axes = plt.subplots(n_rows, n_cols, figsize=(15, n_rows * 4))
fig.suptitle("s=X& #H4=2| Boxplot" fontsize=16, y=1.02)

# 21 H==01| CH3H Boxplot 44
fori, col in enumerate(numeric_cols):
row =i// n_cols
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col_pos =i % n_cols

sns.boxplot(data=final_data, x=col, ax=axes[row, col_pos], color="skyblue")
axes[row, col_pos].set_title(f'{col}, fontsize=14)

axes[row, col_pos].set_xlabel(")

axes[row, col_pos].tick_params(axis="y, labelsize=10)

# Y EXR MA (B Ha 27 AXEC A2 2 R)
forjinrange(i + 1, n_rows * n_cols):
fig.delaxes(axes][j // n_cols, j % n_cols])

plt.tight_layout()
plt.show()

def remove_outliers_igr(df):

cllofE{af|le] 2t Hoi| CHSH IQRS AFESHO] O|AXIE F[ARILIC.
df_cleaned = df.copy()
for column in df.select_dtypes(include=[float, int]).columns:
Q1 = df[column].quantile(0.25)
Q3 = df[column].quantile(0.75)
IQR=Q3-Q1
lower_bound = Q1-15*IQR
upper_bound = Q3 + 1.5 * IQR
df_cleaned = df_cleaned[(df_cleaned[column] >= lower_bound) & (df_cleaned[column]
<= upper_bound)]
return df_cleaned

df_cleaned = remove_outliers_igr(final_data)
df_cleaned = df_cleaned.reset_index(drop=True)
df_cleaned

# Aot AR B4 2l AE

numeric_cols

ﬁ%%*(%%sé%*)' = E 1%, 'EEIJEIHIEPOIE' 'HDL *El*Eﬂ%’, 'LDL *El*Eﬂi'

YMA EH T OE| Ll (FEX|LQE)AST, (FNX|E|)ALT, ‘40t X[E|m|!

# 2T A MY
n_cols = 5 # o Hof| EA[S O &
n_rows = (len(numeric_cols) + n_cols - 1) // n_cols # & ol 4= A&t

# Figure A4
fig, axes = plt.subplots(n_rows, n_cols, figsize=(15, n_rows * 4))
fig.suptitle("s=X[& #H4=2| Boxplot" fontsize=16, y=1.02)
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# 25 H=~01| CHH Boxplot A4
fori, col in enumerate(numeric_cols):
row = i// n_cols
col_pos =i % n_cols
sns.boxplot(data=df_cleaned, x=col, ax=axes[row, col_pos], color="skyblue")
axes[row, col_pos].set_title(f'{col}, fontsize=14)
axes|[row, col_pos].set_xlabel(")
axes|[row, col_pos].tick_params(axis="y', labelsize=10)

HEBE H (& ¥4 47 2AxpE0He A9)

forjinrange(i + 1, n_rows * n_cols):
fig.delaxes(axes[j // n_cols, j % n_cols])

plt.tight_layout()
plt.show()
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Appendix

(Mol H0]E]
import numpy as np
import pandas as pd

import dask.array as da
import dask.bag as db

from dask.distributed import LocalCluster
import dask.dataframe as dd

import glob

import os

# Dask9| LocalClusters AFESH 22{AH AN

cluster = LocalCluster(n_workers=12, threads_per_worker=2)

# Y S2AH0| HEE S2H0|AE 7t 7|

client = cluster.get_client()

# It A2 IiE FHo|
file_pattern = './2022/01.A4{H| A 215 /daegu_service_sex_age_pop_*csV'

#glob RS2 ALE5I0] Ii THEI0]| Sf= 2 E THY 2|AE JH Q7|
file_list = glob.glob(file_pattern)

# It 22 IifE o
file_pattern = './2023/01.X|H| A 217 /*/daegu_service_sex_age_pop_*csv'
file_list.extend(glob.glob(file_pattern))

#Oll0JE] 2 'blocksize' = Dask7t IHAUS LEF0] i el M

df = dd.read_csv(file_list, delimiter='|'’ encoding='utf-8'blocksize="150MB' assume_
missing=True)

# df = df.drop(axis=1,columns=['HCODE")

df.head()

#EAZ AL (A Al T2 M| MY £~ US)
stats = df[['H_POP' 'W_POP' 'V_POP']].describe().compute()
stats.to_csv('E:/skt_proj/stats.csv')

# XA SAHZE pandasE CHA| 2EE

stats = pd.read_csv('E:/skt_proj/stats.csv').set_index('Unnamed: 0')
stats.astype(int)
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# BRI O| K| CHASH= =
def replace_outliers_with_median(df, columns, stats, multiplier=1.5):
def replace_partition(part, stats, columns):
for column in columns:
#IQR(ARZ P! 'HI) S 0| 2310 0| K| 2| SFghdnt abghd
Q1 = stats.loc['25%', column]
Q3 = stats.loc['75%!, column]
IQR=Q3-Q1
lower_bound = Q1 - multiplier * IQR
upper_bound = Q3 + multiplier * IQR
median = stats.loc['50%', column]

Atk

o

# O|&K| 2718 UHESH= 22 212t A
condition = (part[column] < lower_bound) | (part[column] > upper_bound)
part[column] = np.where(condition, median, part[column])

return part

# Dask DataFrame0i| A 2§ THE| 0] CHeH O|AHX| CHA| & M

df = df. map_partitions(replace_partition, stats=stats, columns=columns)

return df

df = replace_outliers_with_median(df, [H_POP' 'W_POP’, 'V_POP"], stats)

#AZ Q7| 2 dy
df['YEAR_GROUP'] = df['STD_YMD'].astype(str).str[:4].astype(int).apply(lambda x: ‘22" if
x == 2022 else 231

#AIZtTH 283 7|1E A 4l
def time_of_day(hour):
if 0 <= hour < 8:
return '7%'
elif 8 <= hour < 16:
return 'Q="
else:
return ‘x4’

df[' TIME_GROUP'] = df['TIME"].apply(time_of_day)

23 4y

df['SEX_GROUP] = df['SEX_AGE].str[0]
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#IESt A=
grouped = df.groupby(['YEAR_GROUP' 'HCODE', 'SEX_GROUP', 'TIME_GROUP"])
# grouped = df.groupby(['YEAR_GROUP', 'HCODE', 'SEX_GROUP'])

result = grouped.agg({
'H_POP": ['sum’ 'mean’],
'W_POP": ['sum’, 'mean’],
'V_POP": ['sum’, 'mean’]
}).reset_index().compute()

# ZHYS Mot

result.columns = ['_‘join(col).strip() if col[1] else col[0] for col in result.columns.values]

result.rename(columns={
'H_POP_sum': 'H_POP_TOTAL,
'W_POP_sum'": 'W_POP_TOTAL,
'V_POP_sum": 'V_POP_TOTAL,
'H_POP_mean': 'H_POP_MEAN',
'W_POP_mean":'W_POP_MEAN',
'V_POP_mean": 'V_POP_MEAN'
}, inplace=True)

result

[ZI= 0= HIO[E ]

import glob

import pandas as pd

import os

#IIY H2 MY
base_path = r"H:\00. DIP\01. 2M2t0|E 244\02. AI5t7t=_H|0|E_FHX2[\01. data\2023"

# ZE20]| A IHY THEO]| Sh= IHY 37|
file_pattern = os.path.join(base_path, "*" "1.CHTA|_LH=Q1_EH *ixt")
file_list = glob.glob(file_pattern)

#IIY 22 30|

=2 3= = e

print(f'E221& I ==: {file_list}")

#IH of7| Bl Hat

dataframes = []

for file in file_list:
df = pd.read_csv(file, sep="|" encoding="utf-8") # I} HAl0f| }2} sep, encoding +=8
dataframes.append(df)

# D= mh et
df = pd.concat(dataframes, ignore_index=True)
# Heot H I M

df.to_csv("./01. data/2023/2023_¥E'E.csv", index=False, encoding="utf-8")
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#IOU F2 4F
base_path = r"H:\00. DIP\01. 242t0|E 241\02. Aet7t=_H|0|E_TA{2[\01. data\2022"

# ZZ0{ M I THEHO|| St= I 27|
file_pattern = os.path.join(base_path, "*" "1.CHTA|_LH=2QI_RHZH **")
file_list = glob.glob(file_pattern)

#I[l'OI %E 3sto|

=7 ==

print(f'E22{2 It S {file_list}")

#IH 47| Bl
dataframes = []
for file in file_list:

et

if 'csv' == file.split(\)[-1]:
df = pd.read_csv(file, sep="", encoding="cp949") # It &40l [}2} sep, encoding +=H
dataframes.append(df)
else:
df = pd.read_csv(file, sep="|", encoding="utf-8") # It HAlofl 2} sep, encoding +&
dataframes.append(df)
# H= IHd Het
df = pd.concat(dataframes, ignore_index=True)
dfto_csv("./01. data/2022/2022_%ZH csv" index=False, encoding="utf-8")

card_2022 = pd.read_csv(../01. data/2022/2022_¢ZH.csv')
card_2023 = pd.read_csv(../01. data/2023/2023_EH.csv')

card_data = pd.concat([card_2022,card_2023]).drop(columns=["&'& 7HoI'H QI THE
F'BEF).reset_index(drop=True)
card_data

#OTE O 7|Z 2T MY

card_data['YEAR'] = card_data['¥&".astype(str).str[:4].astype(int).apply(lambda x: 2022
if x == 2022 else 2023)

card_data['MONTH'] = card_data['¥'&"].astype(str).str[4:6].astype(int)

card_data = card_data.drop(columns=["&'&")

card_data_sum = card_data.groupby(by=["7}YEE#EH S "YEAR, 'MONTH'22F").agg({
FHE0IEZ Y sum,
‘FHE0|8""sum’

1

card_data_sum = card_data_sum.reset_index()

card_data_sum

#IIY =22{27|
daegu_block = gpd.read_file('./01. data/A= & _shp/DMM_BLOCK.shp')

- 2024
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# 0l|2] YX|E flet CRS ©F
daegu_block = daegu_block.to_crs(epsg=3857)

# CRS =0l
print(f"daegu_block CRS: {daegu_block.crs}")

#HQg= E AN = AXE SRS XIES0| ME 7[E 37 EFVIE(AZT) ANER
daegu_block = daegu_block.drop(columns=['STD_YYYY''BLOCK_CD, 'SIDO_CD''SGNG_
CD''LDONG_CD''SIDO_NM 'index)

daegu_block = daegu_block.rename(columns={ADONG_CD"'HCODE'})
daegu_block['HCODE'] = daegu_block['HCODE'].astype('int64')

# Dissolve polygons based on the 'HCODE' column to combine polygons with the same
HCODE

daegu_block = daegu_block.dissolve(by="HCODE").reset_index()

daegu_block

#OA|: ZHE EF5h= AHS MEM
daegu_block[7IUEHE S _OHA" = daegu_block.apply(
lambda x: X'ADONG_NM1 if x[ADONG_NM' in card_data_sum['7}#&EES"].values
else (
X['LDONG_NM1 if x[LDONG_NM'] in card_data_sum['7 &&= =] .values else np.nan
), axis=1

)

4 71U EH RS O 210 9l st Y

Helshs JIUNHNS 4y 5 4y

daegu_block_filtered = daegu_block.dropna(subset=['7tW&EHH S 0{xl)
daegu_block_filtered

#TIHES R = D TSR E Okl

ocoOooo (=]

1o

7|12 Hgt
merged_df = pd.merge(
card_data_sum,
daegu_block_filtered,
left_on="7IYHATYS,
right_on=""t4HAES 01,
how="left'

merged_df = merged_df[[[HCODE''geometry''SGNG_NMADONG_NM'LDONG_
NM!YEAR,MONTH A 2&7t=0|83% ' Ft=0|8711]
merged_df
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(32t 28]

import numpy as np

import pandas as pd

import glob

import geopandas as gpd

# import dask_geopandas as dgpd
from shapely.geometry import Point
from shapely.geometry import Polygon

# I =227
daegu_block = gpd.read_file('02. M=_8HS_shpIt/DMM_BLOCK.shp')

# 0l|2] YWX|E flet CRS ©F
daegu_block = daegu_block.to_crs(epsg=3857)

# CRS =0l
print(f"daegu_block CRS: {daegu_block.crs}")

#EQQlE & AR = HXIE Z7HHRIE XIFgo| M2 7| & 37 2F7|1E (A7) AdEe
daegu_block = daegu_block.drop(columns=['STD_YYYY''BLOCK_CD, 'SIDO_CD''SGNG_
CD''LDONG_CD''SIDO_NM 'index)

daegu_block = daegu_block.rename(columns={ADONG_CD"'HCODE'})
daegu_block['HCODE'] = daegu_block['HCODE'].astype('int64')

# Dissolve polygons based on the ‘HCODE' column to combine polygons with the same
HCODE

daegu_block = daegu_block.dissolve(by="HCODE").reset_index()

daegu_block

df_inflow_sex_time_group = pd.read_csv('01. CH=L A2t0171(2022~2023)/H ™S _MHE_ A7t

CHE_ gl X EZutcsv)

df_inflow_sex_time_group = df_inflow_sex_time_group.rename(columns={"YEAR_
GROUP"'STD_YYYY'})
df_inflow_sex_time_group['STD_YYYY'] = df_inflow_sex_time_group['STD_YYYY'].str.

replace('22'" '2022").replace('23'd" '2023")
df_inflow_sex_time_group['HCODE'] = df_inflow_sex_time_group['HCODE'].astype('int64')
df_inflow_sex_time_group

add_inflow_data_to_shp = pd.merge(left=daegu_block, right=df_inflow_sex_time_group,
on="HCODE'how="right').dropna()
add_inflow_data_to_shp

# IO 22{27|
park_30k = gpd.read_file('03. 3 M-GHIH/HA_30H0|A_Z_TkmHIH.shp')
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# 0l|2] YX|E flet CRS ©F
park_30k = park_30k.to_crs(epsg=3857)

# CRS =0l
print(f"park_30k CRS: {park_30k.crs}")

#HQg= E AN = AXE SRS XIES0| ME 7[E 37 EFVIE(AZT) ANER
park_30k = park_30k.drop(columns=['id’/layer, 'path'])
print(park_30k)

# I =227
park_under_30k = gpd.read_file('03. S&4A

>

%
T
H
~
re
il
'w
=
o

Sl_22_500mHIH.shp')

# 0l|2] YX|E flet CRS ©F
park_under_30k = park_under_30k.to_crs(epsg=3857)

# CRS =0l
print(f"park_under_30k CRS: {park_under_30k.crs}")

#HQg= E AN = AXE S7HRISE XIES0| ME 7|E 37 2FVIE(AZT) ANER
park_under_30k = park_under_30k.drop(columns=['id'])
print(park_under_30Kk)

park_geo = pd.concat([park_30k,park_under_30k])
park_geo
#olole Agt: E2|2 7t Ago|2g, 2|2t Y2t HXl= Yol UCHH, T 2hs Hot== o
join_result = gpd.sjoin(add_inflow_data_to_shp, park_geo, how='inner’,
predicate='intersects')
join_result
# IS E0|S 4
pivot_table_sum = join_result.pivot_table(
columns=['STD_YYYY''SEX_GROUP"],
values=['H_POP_TOTAL'W_POP_TOTAL''V_POP_TOTAL,
index=['a¥ " 'TIME_GROUP'],

aggfunc="'sum'’
)
pivot_table_sum.to_csv('Total_Population_by_Park_Buffer.csv'index=False)
pivot_table_sum
# IS H|O|Z MY
pivot_table_mean = join_result.pivot_table(
columns=['STD_YYYY''SEX_GROUP'],
values=['H_POP_MEAN''W_POP_MEAN''V_POP_MEAN'],
index=["S#%" 'TIME_GROUP'],
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aggfunc="sum'
)
pivot_table_mean.to_csv(‘Average_Population_by_Park_Buffer.csv'index=False)
pivot_table_mean

card_geo = pd.read_csv(04.  detIt=E  Agl/card_processed_geo_merged.
csVv'encoding="'cp949')

from shapely import wkt

card_geo['geometry'] = card_geo['geometry'].apply(wkt.loads)

card_geo = gpd.GeoDataFrame(card_geo, geometry="'geometry')

# ZHEA| (CRS) 4%

card_geo.set_crs(epsg=3857, inplace=True)

card_geo

#olo|e Zgf: E2|z 7t Ago|ng, Je|=et YR2t: HXl= Yol UCHH, T 2hs Hot== o
card_park_join_result = gpd.sjoin(card_geo, park_geo, how='inner' predicate="intersects')
card_park_join_result

3 ARF

i
e
m
o

#ARRE U OS2 24 ZAM HTEE JIE 0|8 A A2
top_3_by_subcategory = (
card_park_join_result
.groupby(['S&E" 'YEAR, 'A2F")
sum(numeric_only=True)[[7IE0|22H"7}E0|2 44
reset_index()
.sort_values(['3HE', 'YEAR, '7k=E0183"], ascending=[True, True, False])
.groupby(['S# &’ 'YEAR)
.head(3)
.reset_index(drop=True)

#2t N ACEE 2| 2 FIt

top_3_by_subcategory[‘=2l" = (
top_3_by_subcategory.groupby(['S& &' 'YEAR')
.cumcount() +1

# I EO|S MY

pivot_table_sum = top_3_by_subcategory.pivot_table(
columns=["YEAR'],
values=['A2F7tE0|S2H ' FIE0| 741,
index=['S¢d" ‘=21,
aggfunc="'sum'’

)

pivot_table_sum
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